www.prepp.in . repp

Your Personal Exams Guide

UGC NET PAPER 2 DECEMBER 4, 2021 SHIFT 2 ASSAMESE

Topic:- Assamese SET1_A
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[Question ID = 2279][Question Description = Q01_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9113]
2. 2 [Option ID = 9114]
3. 3 [Option ID = 9115]
4. 4 [Option ID = 9116
Correct Answer :-

e 1 [Opticn ID = 9113]
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[Question ID = 2280][Question Description = Q02_ASSAM_SHAAN_4DEC_S1_Shift1]
1, 1 [Option ID = 9117]
2. 2 [Option ID = 9118]
3. 3 [Option ID = 9119
4. 4 [Option ID = 9120]

Carrect Answer :-
& 1 [Option ID = 9117]
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[Question ID = 2281][Question Description = Q03_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9121]
2. 2 [Option ID = 9122]
3, 3 [Option ID = 9123]
4, 4 [Option ID = 9124]

Correct Answer :-
a 1 [Option ID = 9121]
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[Question ID = 2282][Question Description = Q04_ASSAM_SHAAN_4DEC_51_5Shift1]
1, 1 [Option ID = 9125]
| 2. 2 [Option ID = 9126]
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| 3. 3 [Option ID = 9127]
4. 4 [Option ID = 9128]

Carrect Answer :-
& 1 [Option ID = 9125]
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[Question ID = 2283][Question Description = Q05_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9129]
2. 2 [Option ID = 9130]
3. 3 [Option ID = 9131]
4, 4 [Option ID = 9132]

Correct Answer :-
a 1 [Option ID = 9129]
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[Question ID = 2284][Question Description = Q06_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9133]

2. 2 [Option ID = 9134]

3. 3 [Option ID = 9135]

4. 4 [Option ID = 9136]

Correct Answer :-

s 1 [Option ID = 9133]
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[Question ID = 2285][Question Description = Q07_ASSAM_SHAAN_4DEC_S51_Shift1]
1. 1 [Option ID = 9137]

2. 2 [Option ID = 9138]

3. 3 [Option ID = 9139]

4. 4 [Option ID = 9140]

Carrect Answer :-

e 1 [Option ID = 9137]
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[Question ID = 2286][Question Description = Q08 _ASSAM_SHAAN_4DEC_51_Shift1]
| 1. 1 [Option ID = 9141]
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| 2. 2 [Option ID = 9142)
3. 3 [Option ID = 9143]
4. 4 [Option ID = 9144]

Correct Answer :-
& 1 [Opticn ID = 9141]
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[Question ID = 2287][Question Description = Q09_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9145]
2. 2 [Option ID = 9146]
3. 3 [Option ID = 9147]
4, 4 [Option ID = 9148]

Correct Answer :-
e 1 [Option ID = 9145]
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[Question ID = 2288][Question Description = Q10_ASSAM_SHAAN_4DEC_51_5Shift1]
1. 1 [Option ID = 9149]

2. 2 [Option ID = 9150]

3. 3 [Option ID = 9151]

4. 4 [Option ID = 9152]

Correct Answer ;-

e 1 [Option ID = 9149]
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[Question ID = 2289][Question Description = Q11_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = $153]
2. 2 [Option ID = 9154]
3. 3 [Option ID = 9155]
4. 4 [Option ID = 9156

Carrect Answer :-
& 1 [Option ID = 9153]
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[Question ID = 2290][Question Description = Q12_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9157]
2. 2 [Option ID = 9158]
3. 3 [Option ID = 9159]
4. 4 [Option ID = 9160

Correct Answer :-
e 1 [Option ID = 9157]
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[Question ID = 2291][Question Description = Q13_ASSAM_SHAAN_4DEC_S51_Shift1]
1. 1 [Option ID = 9161]

2. 2 [Option ID = 9162]

3. 3 [Option ID = 9163]

4. 4 [Option ID = 9164]

Correct Answer :-

a 1 [Option ID = 9161]
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[Question ID = 2292][Question Description = Q14_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9165]
2. 2 [Option ID = 9166]
3. 3 [Option ID = 9167]
4. 4 [Option ID = 9168]

Carrect Answer :-
& 1 [Option ID = 8165]
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[Question ID = 2293][Question Description = Q15_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9169]
2. 2 [Option ID = 9170]
3. 3 [Option ID = 9171]
4. 4 [Option ID = $172]

Correct Answer :-
& 1 [Opticn ID = 9169]
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[Question ID = 2294][Question Description = Q16_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9173]

2. 2 [Option ID = 9174]

3. 3 [Option ID = 9175]

4. 4 [Option ID = 917
Correct Answer ;-
e 1 [Opticn ID = 9173]
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[Question ID = 2295][Question Description = Q17_ASSAM_SHAAN_4DEC_S1_Shift1]
| 1. 1 [Option ID = 9177]
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| 2. 2 [Option ID = 9178)
3. 3 [Option ID = 9179]
4. 4 [Option ID = 9180]

Correct Answer :-
& 1 [Opticn ID = 9177]
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[Question ID = 2296][Question Description = Q18_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9181]

2. 2 [Option ID = 9182]

3. 3 [Option ID = 9183]

4. 4 [Option ID = 3184]

Caorrect Answer ;-

& 1 [Option ID = 9181]
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[Question ID = 2297][Question Description = Q19_ASSAM_SHAAN_4DEC_51_5Shift1]
1. 1 [Option ID = 9185]

2. 2 [Option ID = 9186]

3. 3 [Option ID = 9187]

4. 4 [Option ID = 9188]

Correct Answer ;-

e 1 [Option ID = 9185]
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[Question ID = 2298][Question Description = Q20_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9189]
2. 2 [Option ID = 9190]
3. 3 [Option ID = 9191]
4, 4 [Option ID = 9192]

Correct Answer :-
e« 1 [Option ID = 918%]
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[Question ID = 2299][Question Description = Q21_ASSAM_SHAAN_4DEC_51_Shift1]
| 1. 1 [Option ID = 9193]
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| 2. 2 [Option ID = 9194]
3. 3 [Option ID = 9195]
4. 4 [Option ID = 9196]

Correct Answer :-
e 1 [Opticn ID = 9193]
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Go Tell him go:-
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[Question ID = 2300][Question Description = Q22_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9197]

2. 2 [Option ID = 9198]

3. 3 [Option ID = 9199]

4. 4 [Option ID = 9200]

Correct Answer ;-

e 1 [Option ID = 9197)
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[Question ID = 2301][Question Description = Q23_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9201]

2. 2 [Option ID = 9202]

3. 3 [Option ID = 9203]

4. 4 [Option ID = 9204]

Correct Answer ;-

e 1 [Option ID = 9201]
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[Question ID = 2302][Question Description = Q24_ASSAM_SHAAN_4DEC_51_5Shift1]
1. 1 [Option ID = 9205]

2. 2 [Option ID = 9206]

3. 3 [Option ID = 9207]

4. 4 [Option ID = 9208]

Correct Answer ;-

e 1 [Option ID = 9205]
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[Question ID = 2303][Question Description = Q25_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9209
2. 2 [Option ID = 9210
3. 3 [Option ID = 9211]
4. 4 [Opticn ID = 9212
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Correct Answer ;-
e 1 [Option ID = 9209]
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[Question ID = 2304][Question Description = Q26_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9213]
2. 2 [Option ID = 9214]
3. 3 [Option ID = 9215]
4, 4 [Option ID = 9216]

Correct Answer :-
a 1 [Option ID = §213]
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[Question ID = 2305][Question Description = Q27_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9217]
2. 2 [Option ID = $218]
3. 3 [Option ID = 9219]
4. 4 [Option ID = 9220
Correct Answer ;-

e 1 [Opticn ID = 9217]
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[Question ID = 2306][Question Description = Q28_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9221]

2. 2 [Option ID = 9222]

3. 3 [Option ID = 9223]

4. 4 [Option ID = 9224]

Correct Answer ;-

e 1 [Option ID = 9221]

29) (@&t M S P T

() RS 2 @ETET
(3) e sist 4 Reswasgm

[Question ID = 2307][Question Description = Q29_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9225]
2. 2 [Option ID = 9226)
3. 3 [Option ID = 9227]
4. 4 [Option ID = 9228]

Correct Answer :-
& 1 [Opticn ID = 9225]
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[Question ID = 2308][Question Description = Q30_ASSAM_SHAAN_4DEC_S51_Shift1]
1. 1 [Option ID = 9229]
2. 2 [Option ID = 9230]
3. 3 [Option ID = 9231]
4, 4 [Option ID = 9232]

Correct Answer :-
e 1 [Option ID = 9229]
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[Question ID = 2309][Question Description = Q31_ASSAM_SHAAN_4DEC_51_5Shift1]
1. 1 [Option ID = 9233]

2. 2 [Option ID = 9234]

3. 3 [Option ID = 9235]

4. 4 [Option ID = 9236

Correct Answer :-

e 1 [Option ID = 9233]
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[Question ID = 2310][Question Description = Q32_ASSAM_SHAAN_4DEC_S51_Shift1]
1. 1 [Option ID = 9237]
2. 2 [Option ID = 9238]
3. 3 [Option ID = 9239]
4, 4 [Option ID = 9240]

Correct Answer :-
e 1 [Option ID = 9237]

) MY TR AT FI1 424 Brs shifzey of " ann-
(L SerSEET (2) <APEER
(3) S s (4) @A (7T A

[Question ID = 2311][Question Description = Q33_ASSAM_SHAAN_4DEC_51_5Shift1]
1. 1 [Option ID = 9241]

2. 2 [Option ID = 9242]

3. 3 [Option ID = 9243]

4. 4 [Option ID = 9244]

Correct Answer ;-

e 1 [Option ID = 9241]
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[Question ID = 2312][Question Description = Q34_ASSAM_SHAAN_4DEC_51_5Shift1]
1. 1 [Option ID = 9245]

2. 2 [Option ID = 9246]

3. 3 [Option ID = 9247]

4. 4 [Option ID = 9248]

Correct Answer ;-

e 1 [Option ID = 9245]
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[Question ID = 2313][Question Description = Q35_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9249]

2. 2 [Option ID = 9250]

3. 3 [Option ID = 9251]

4, 4 [Option ID = 9252]

Correct Answer :-

» 1 [Option ID = 9249]
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[Question ID = 2314][Question Description = Q36_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9253]

2. 2 [Option ID = 9254]

3. 3 [Option ID = 9255]

4. 4 [Option ID = 9256]

Correct Answer ;-

e 1 [Option ID = 9253]
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[Question ID = 2315][Question Description = Q37 _ASSAM_SHAAN_4DEC_51_5Shift1]
1. 1 [Option ID = 9257]

2. 2 [Option ID = 9258]

3. 3 [Option ID = 9259]

4. 4 [Option ID = 9260]

Correct Answer ;-

e 1 [Option ID = 9257]
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[Question ID = 2316][Question Description = Q38_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Optien ID = 9261]

2. 2 [Option ID = 9262]

3. 3 [Option ID = 9263]

4. 4 [Option ID = 9264]

Carrect Answer :-

e« 1 [Option ID = 9261]
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[Question ID = 2317][Question Description = Q39_ASSAM_SHAAN_4DEC_S1_Shift1]
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. 1 [Opticn ID = 9265]

2 [Option ID = 9266]
3 [Option ID = 9267]
. 4 [Option ID = 9268]

Correct Answer :-
e 1 [Opticn ID = 9265]
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[Question ID = 2318][Question Description = Q40_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9269]
2. 2 [Option ID = 9270]
3, 3 [Option ID = 9271]
4, 4 [Option ID = 9272]

Correct Answer :-
a 1 [Option ID = 9269]
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[Question ID = 2319][Question Description = Q41_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Optien ID = 9273]
2. 2 [Option ID = 9274]
3. 3 [Option ID = 9275]
4. 4 [Option ID = 9276]

Correct Answer ;-
e 1 [Option ID = 9273]
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[Question ID = 2320][Question Description = Q42_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9277)
| 2. 2 [Option ID = 9278)
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| 3. 3 [Option ID = 9279
4. 4 [Option ID = 9280]

Carrect Answer :-
& 1 [Option ID = 9277]
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[Question ID = 2321][Question Description = Q43_ASSAM_SHAAN_4DEC_51_Shift1]
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1. 1 [Option ID = 9281]
2. 2 [Option ID = 9282]
3. 3 [Option ID = 9283]
4. 4 [Option ID = 9284]

Carrect Answer :-
* 1 [Option ID = 9281]
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[Question ID = 2322][Question Description = Q44_ASSAM_SHAAN_4DEC_51_5Shift1]

1. 1 [Option ID = 9285]
2. 2 [Option ID = 9286]
3. 3 [Option ID = 9287]
4. 4 [Option ID = 9288]

Correct Answer ;-
e 1 [Option ID = 9285]
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[Question ID = 2323][Question Description = Q45_ASSAM_SHAAN_4DEC_51_Shift1]
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1. 1 [Option ID = 9289]
2. 2 [Option ID = 9290]
| 3. 3 [Option ID = 9291]
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| 4. 4 [Option ID = 9292]

Carrect Answer :-
s 1 [Option ID = 9289]
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[Question ID = 2324][Question Description = Q46_ASSAM_SHAAN_4DEC_51_Shift1]
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1. 1 [Option ID = 9293]
2. 2 [Option ID = 9294]
3. 3 [Option ID = 9295]
4. 4 [Option ID = 9296]

Correct Answer -
e 1 [Option ID = 9293]
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[Question ID = 2325][Question Description = Q47_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9297]
2. 2 [Option ID = 9298]
3. 3 [Option ID = 9299]
4, 4 [Option ID = 9300]

Correct Answer :-
a 1 [Option ID = 9297]
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[Question ID = 2326][Question Description = Q48_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9301]
2. 2 [Option ID = 9302)
3. 3 [Option ID = 9303]
4. 4 [Option ID = 9304)]
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Correct Answer ;-
e 1 [Option ID = 9301]
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[Question ID = 2327][Question Description = Q49_ASSAM_SHAAN_4DEC_S1_Shift1]
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1. 1 [Option ID = 9305]
2. 2 [Option ID = 9306]
3. 3 [Option ID = 9307]
4. 4 [Option ID = 9308]

Carrect Answer :-
& 1 [Option ID = 9305]
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[Question ID = 2328][Question Description = Q50_ASSAM_SHAAN_4DEC_51_Shift1]

T o
famm T fanw

(% S A R AE
(SIES 7Y,

ASH B
Cag D

1. 1 [Option ID = 9309]
2. 2 [Option ID = 9310]
3. 3 [Option ID = 9311]
4. 4 [Option ID = 9312]

Correct Answer :-
e 1 [Option ID = 9309]
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[Question ID = 2329][Question Description = Q51_ASSAM_SHAAN_4DEC_51_Shift1]
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1. 1 [Option ID = 9313]
2. 2 [Option ID = 9314]
3. 3 [Option ID = 9315]
4. 4 [Option ID = 9316]

Correct Answer -
e 1 [Option ID = 9313]
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[Question ID = 2330][Question Description = Q52_ASSAM_SHAAN_4DEC_51_5Shift1]
1. 1 [Option ID = 9317]

2. 2 [Option ID = 9318]

3. 3 [Option ID = 9319]

4. 4 [Option ID = 9320]

Correct Answer ;-

e 1 [Option ID = 9317)

A 9o RRIR

B. 9@l

C. FFOOHIG

D. @fisq

() ARB @ A3gC
® BIaFC (4 Cw9H{D

[Question ID = 2331][Question Description = Q53_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9321]

2. 2 [Option ID = 9322]

3. 3 [Option ID = 9323]

4. 4 [Option ID = 9324]

Carrect Answer ;-

s 1 [Option ID = 9321]

A. Ol

B TF, S

c. I, 9

D. (e, (919

1) AZ{B @ AWFC
3 BIRC @ Cw{D

[Question ID = 2332][Question Description = Q54_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9325]
2. 2 [Option ID = 9326]
3. 3 [Option ID = 9327]
4. 4 [Option ID = 9328
Correct Answer ;-

e 1 [Opticn ID = 9325]
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A, WIRS A A
B. YIfRe W GO
c. Flrerofes 2feqgs

D. ORI IE RS
(1) A9RB 2 AsHFC
3 BuFcC 4 Cw9gD

[Question ID = 2333][Question Description = Q55_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9329]
2. 2 [Option ID = 9330]
3. 3 [Option ID = 9331]
4. 4 [Option ID = 9332]

Carrect Answer :-
s 1 [Option ID = 9329]

FEALT EFIE F6® ASHAT -
A SEE ST SIS H

B. &S s SIS
C. IR IS

D. =9k sfeyE

1 AIFgB 2) A C
3 BwgcC (4 BIAD

[Question ID = 2334][Question Description = Q56_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9333]
2. 2 [Option ID = 9334]
3. 3 [Option ID = 9335]
4. 4 [Option ID = 9336]

Carrect Answer :-
¢ 1 [Option ID = 9333]

a ST, oIS RS SR TS S 47-
A T
B. AMfS
€. B®
D. fafes
(1) A9HEB (2) AWHC
(3) BYHC (4 C9{ D

[Question ID = 2335][Question Description = Q57 _ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9337]

2. 2 [Option ID = 9338]

3. 3 [Option ID = 9339]

4. 4 [Option ID = 9340]

Correct Answer ;-

e 1 [Option ID = 9337]

*8)  PReeE ST S S 4

=
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A, 91939 949
B. b ERCIIC)

C. @ IqeTEfe
D. TS SATSSTH

1) A9IFB 2y A9FC
3 BaFC (4 C9HgD

[Question ID = 2336][Question Description = Q58_ASSAM_SHAAN_4DEC_51_5Shift1]
1. 1 [Option ID = 9341]
2. 2 [Option ID = 9342]
3. 3 [Option ID = 9343]
4. 4 [Option ID = 9344]
Correct Answer ;-

e 1 [Opticn ID = 9341]

C.  CIFRHE Wi

D. SRS T

() A9 B 2 AWFC
3 BaFC 4 AIFD

[Question ID = 2337][Question Description = Q59_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9345]
2. 2 [Option ID = 9346
3. 3 [Option ID = 9347]
4. 4 [Option ID = 934
Correct Answer ;-

e 1 [Opticn ID = 9345]

ST TR TAwe oI YT

A 1O H4

B.  ¥qFTEIel

C. Tl

D. =fesEam

1) A9H{B 2) AWigC
3) BIFC (4 CwHg D

[Question ID = 2338][Question Description = Q60_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9349]
2. 2 [Option ID = 9350]
3. 3 [Option ID = 9351]
4. 4 [Option ID = 9352)

Carrect Answer :-

1 [Option ID = 9349]

A A SimsiRat
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B. Sl=e= b arg A

C. AP

D. TERigs vl

1) A9gB @2 AwgC
3 BIRC @ CI{D

[Question ID = 2339][Question Description = Q&61_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9353]
2. 2 [Option ID = 9354]
3. 3 [Option ID = 9355]
4. 4 [Option ID = 9356
Correct Answer ;-

& 1 [Opticn ID = 9353]

STIE0S] T4@ 7
FEE TIEE @ SR
(O SfHFT 7
C. YREIdq -Tex diFe
D. 2R rEe Off @ gHA

EGlGRECEIERRCE D)
1) AIRB
@ ASRC
(3 BIFC
4 Ca{D

[Question ID = 2340][Question Description = Q62_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9357]
2. 2 [Option ID = 9358)
3. 3 [Option ID = 9359]
4. 4 [Option ID = 9360]

Carrect Answer :-
& 1 [Option ID = 8357]

63) (ST &5 (AT %4 {71-

A, IEATSHE ey

B.  ONATI5FTT

C.  SNAM Iy (Sl

D. ST SA

1) ATRB @ ATFC
® BIRC 4) CoHgD

[Question ID = 2341][Question Description = Q63_ASSAM_SHAAN_4DEC_51_Shift1]
| 1. 1 [Option ID = 9361]
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| 2. 2 [Option ID = 9362]
3. 3 [Option ID = 9363]
4. 4 [Option ID = 9364]

Correct Answer :-
& 1 [Opticn ID = 9361]

[Question ID = 2342][Question Description = Q64_ASSAM_SHAAN_4DEC_51_Shift1]

A9 B @ ASFC
B3 C (4) CW@D

1. 1 [Option ID = 9365]
2. 2 [Option ID = 9366]
3. 3 [Option ID = 9367]
4, 4 [Option ID = 9368]

Correct Answer :-
a 1 [Option ID = 9365]

65)

IPOIFT =ud -
A TFAIE WENE 99 || TAEE
SR T9A9 |1 S AT
B.  Telfedr fa 1 11340
SIS FT | T
c. [Rysmer | e e e
G STIE SR | ST RIS
D. TFE (NS 72 || I A0 N (F
AR yEEe | iar A ol
) A=RB @ AsFC
@ BIFC @ Cw{gD

[Question ID = 2343][Question Description = Q&65_ASSAM_SHAAN_4DEC_S1_Shift1]

1. 1 [Option ID = 9369]
2. 2 [Option ID = 9370]
3. 3 [Option ID = 9371]
4, 4 [Option ID = 9372]

Correct Answer :-
e 1 [Option ID = 9369%]

66) & gEAbI® o 9T AEmE

IE P IT q
A @@ sfaeEEs :
I EG IR L EL)
B. (SN[ ISl 11
o 3
941 | (IS 9T R F
c. I I fEE a9
III. =3«
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FHF (A8 ¥4F M

D. (%41 (241 64T 999 B339
@€ @RF GIF 92 T T9RS

V. @

(1) A-ILB-LC-IIO D-IV

2) A-LB-ILC-II, D-IV

(3) A-TM.B-IV,C-II,L D-1

4 A-IV,B-ILC-I D-II

[Question ID = 2344][Question Description = Q66_ASSAM_SHAAN_4DEC_S1_Shift1]

1. 1 [Option ID = 9373]
2. 2 [Option ID = 9374]
3. 3 [Option ID = 9375]
4. 4 [Option ID = 9376

Carrect Answer :-
& 1 [Option ID = 9373]

prepp

Your Personal Exams Guide

7 z
7 % geatwe o T B
ITT T
A (ST I TR fafEt
B=AT I1. 7Y
C. SR 11T feImst F2=11
D. gTFEs IV. sifeer

1) A-ILB-II,C-II D-IV
@ A-IVB-LULC-I,D-I
@ A-LB-ILC-IL D-IV
4 A-IVB-ILC-II, D-TII

[Question ID = 2345][Question Description = Q67 _ASSAM_SHAAN_4DEC_S1_Shift1]

1. 1 [Option ID = 9377]
2. 2 [Option ID = 9378]
3. 3 [Option ID = 9379]
4, 4 [Option ID = 9380]
Correct Answer :-

e 1 [Option ID = 9377]

) = gertwe « = Rt
TT Ty
A - (BT, (8 [ 9ffe sem
B. -G/ -Tifft II. ffFeeare fom
C. -del, -S@ 1. 39
D. -8, -3, -8 IV. SFIan< [Qefe

Q@ A-IVB-ILC-IL D-II

@ A-ILB-ILC-III D-1IV

@ A-ILB-IILC-IV. D-II

@ A-IILB-LC-III D-IV

[Question ID = 2346][Question Description = Q68 _ASSAM_SHAAN_4DEC_51_Shift1]

1. 1 [Option ID = 9381]
2. 2 [Option ID = 9382]
3. 3 [Option ID = 9383]
| 4. 4 [Option ID = 9384]
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Correct Answer ;-
e 1 [Option ID = 9381]
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T 92= bite “IT’ 3% fenat

T 1 =TI
A dfggEm  [L fesms mEy
B. wenudfe (1. ST wRa
C. gsfeam  |IIL Ew™anst
D. afrsgeEm(IV. FrfE
O (A1 8% SodG! qife SFTSET:

1) A-LB-IILC-III. D-1IV

2) A-ILB-L.C-IV, D-1III

(3) A-ILB-LC-II D-1IV

4) A-IVB-LC-II, D-III

[Question ID = 2347][Question Description = Q69_ASSAM_SHAAN_4DEC_S1_Shift1]

1. 1 [Option ID = 9385]
2. 2 [Option ID = 9386]
3. 3 [Option ID = 9387
4. 4 [Option ID = 9388]

Correct Answer :-
& 1 [Opticn ID = 9385]

70) T gex e I 3= fvenat

3% 1 3T I
A g @AM I.  wlREmsmast
B. gwlags @ [II.  quPRx
C. = =3y 1. SIS AR
D. == &7 IV. 354 Es
e W] 9% Sos] a1k Sfersal:

() A-ILB.I.C-IV, D.II
@ A-ILB-I.C-NI,D-IV
¢ A-IV,B-TI,C-II D-I
@ A-LB-I.C-TI, D-IV

[Question ID = 2348][Question Description = Q70_ASSAM_SHAAN_4DEC_51_Shift1]

1. 1 [Option ID = 9389]
2. 2 [Option ID = 9390]
3. 3 [Option ID = 9391]

4. 4 [Option ID = 9392]

Carrect Answer :-
a 1 [Option ID = 8389]

) 1 yog tee 1T 32 fiEEl

T 1

I

A @ISETel

T S[ACIET
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B. 2fsg4fay II.  (9&fds &y
C. g F=at IIl. TRFRLE

D. SHE Il V. =3 6H®

oo (Al O Ses] Ik Sferad:

(1) A-L B-II.C-IV, D-1I
(2) A-LB-II.C-III. D-1V
(3) A.-IV.B-II,C-I, D-1I
{4) A-II.B-IV.C-IIT, D-1
[Question ID = 2349][Question Description = Q71_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9393]
2. 2 [Option ID = 9394]
3. 3 [Option ID = 9395]
4, 4 [Option ID = 9396]

Correct Answer :-
e« 1 [Option ID = 9393]

T 323 e ‘T’ 3% fanst

T 1 REI

A=W L s o
B.apils  |[L(emfaae o
C.ZM5  [[L wx: Benoza
D. CTENS [IV. 118 ares

oo A 8% Sod! It SfFeal:

(1) A-ILB-IV,C-I D-III
@ A-IVB-INLC-I, D-I
@& A-I,B-IV.C-I,D-II
4 A.I,B-IV.C-TI, D-I

[Question ID = 2350][Question Description = Q72_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9397]

2. 2 [Option ID = 9398]

3. 3 [Option ID = 9399]

4. 4 [Option ID = 9400]

Correct Answer ;-

e 1 [Option ID = 9397)

73) T gz e I 9= fwemat

3T 1 3T 1

A Frel I. SgEsITE
B. fifex . sEsR
C. =X I f5afs

D. sy IV. saR=EE
6 5] B% ToIE] 71k Sfedr:

1) A-II,B-ILC-I,D-IV
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2 A-ILB-II.C-1IV, D-I
3 A-ILB-IILC-TI D-IV
4 A-IV.B-I.C-II. D-III

[Question ID = 2351][Question Description = Q73_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9401]
2. 2 [Option ID = 9402]
3. 3 [Option ID = 9403]
4. 4 [Option ID = 9404]

Carrect Answer :-
& 1 [Option ID = 9401]

T 1 3T I
A FF(EFET I Sl g
B. ®@6 I CEh LR |
C. fresm I TSl E=]
D. |{FAFHFT |[V. (55 (ST

TG (5] ©% Sodn! 9t SirsaT:

1) A.-II,B-IV.C-II, D-I
@ A-LB-IV.C-IL D-II
@ A-ILB-LC.IL D-IV
@ A-TI,B-IV,C-I.D-II

[Question ID = 2352][Question Description = Q74_ASS5AM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9405]
2. 2 [Option ID = 9406]
3. 3 [Option ID = 5407]
4, 4 [Option ID = 9408]

Correct Answer :-
a 1 [Option ID = 5405]

S 1 Tl
A TR IR I Tenst
B. @A I FH@aa
C. TR I =i aat
D. sie1 foedts =iy IV. o at
ovTe M) % J3a0! Jifer SfFrsaT:

@ A-I.B-II.C-II. D-1IV
@ A-I.B-I,C-IV, D-III
@ A-IILB-I,C-IV.D-II
4 A-II.B-I.C-II.D-1IV

[Question ID = 2353][Question Description = Q75_ASSAM_SHAAN_4DEC_S51_Shift1]
1. 1 [Option ID = 9409]
2. 2 [Option ID = 9410]
3. 3 [Option ID = 9411]
4. 4 [Option ID = 9412]
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Correct Answer ;-

e« 1 [Option ID = 940%]

76)
oelE fofde T Sepif STvET

A [EfEEw mEET

B. (267 (ST

1 EADCBE
@ EADBC
3 AEBCD
4 B.C,ADE

[Question ID = 2354][Question Description = Q76_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9413]

2. 2 [Option ID = 9414]

3. 3 [Option ID = 9415]

4. 4 [Option ID = 9416]

Correct Answer ;-

e 1 [Option ID = 9413]

oA T3l S STEE]
A F9e

B. @@

C. WISHY

D. &M

E. ®irm

BE A0 (F

1) BDCAE
2 D.BAEC
3 B.D,CEA
4 CBADE

[Question ID = 2355][Question Description = Q77_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9417

2. 2 [Option ID = 9418]

3. 3 [Option ID = 9419]

4. 4 [Option ID = 9420
Correct Answer ;-
& 1 [Opticn ID = 9417]



www.prepp.in

[Question ID = 2356][Question Description = Q78_ASSAM_SHAAN_4DEC_S1_Shift1]

B. e
c. ©d9fe

D. BN

E. 9S5E
B TG (=T

(1) D.ABC.E
) ADCBE
3 CADBE
4 CBADE

1, 1 [Option ID = 9421]
2. 2 [Option ID = 9422]
3. 3 [Option ID = 9423]
4. 4 [Option ID = 9424]

Carrect Answer :-
e 1 [Option ID = 9421]

[Question ID = 2357][Question Description = Q79_ASSAM_SHAAN_4DEC_51_Shift1]

ST AGTHETT T3 FeTd SR

A, FAGAA0
B. ¥f&E a6
C.  SToloud 76
D. dEEEnan
E. 99516 916
T TG (20

()  B.AC,DE
9 BDECA
3 B.C.ADE
4 BDCAE

1. 1 [Option ID = $425]
2. 2 [Option ID = 9426]
3. 3 [Option ID = 9427]
4. 4 [Option ID = 9428]

Carrect Answer :-
s 1 [Option ID = 5425]

A=)
A TABIEAM
B. IMIIEPEAM
c. ugfesm
D. FHAHAM
E  &39m
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D
@
3)
4@

[Question ID = 2358][Question Description = Q80_ASSAM_SHAAN_4DEC_51_Shift1]

AEDBC
EDCAB
EDACB
B.C_ADE

1. 1 [Option ID = 9429]
2. 2 [Option ID = 9430]
3. 3 [Option ID = 5431]
4, 4 [Option ID = 9432]

Correct Answer :-
a 1 [Option ID = 5429]

1) e ondee Ifew ST TN STt ]

A. Prepz

B. famxamal

C. L] Ea

D. F¥R@EPEmE
E  wxEd

NG A0 @&

), AEBCD
(2) C.E.ADB
(3) D.C.AE B
@ B.CEAD

[Question ID = 2359][Question Description = Q81_ASSAM_SHAAN_4DEC_51_Shift1]

1. 1 [Option ID = 9433]
2. 2 [Option ID = 9434]
3. 3 [Option ID = 9435]
4. 4 [Option ID = 9436]

Carrect Answer :-
* 1 [Option ID = 9433]

82)
A fep e e
B. fifsSizs
C. (c9EF e
D. &A@

E. bBi@gansm®
=T FAB] A

) CDAETSB
(2) ACDBE
3 BCAED
(1) B.ECAD

[Question ID = 2360][Question Description = Q82_ASSAM_SHAAN_4DEC_51_Shift1]
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oW

. 1 [Opticn ID = 9437]
2 [Option ID = 9438]

3 [Option ID = 9439]

. 4 [Option ID = 9440]

Correct Answer :-
e 1 [Opticn ID = 9437]

[Question ID = 2361][Question Description = Q83_ASSAM_SHAAN_4DEC_51_5Shift1]

THWE4 [0 36© ST T ST TEET

A TEaLI-H[Hdhd

B. 98 mams 9@ 8 7 amEma
C. TEalmdg

D. Tmama:at wsiEs

E. "8 mamg

BE TAG! T

(1) C.B.E.D A

@ AECDB

® DCAESB

@ BECAD

1. 1 [Option ID = 9441]
2. 2 [Option ID = 9442]
3. 3 [Option ID = 9443]
4. 4 [Option ID = 9444]

Correct Answer ;-
e 1 [Option ID = 9441]

[Question ID = 2362][Question Description = Q84_ASSAM_SHAAN_4DEC_S51_Shift1]

(RIGF Y519 AT FIAT T3 SPA( TEnal
A HUPAR ASFAE
B.  WOlGAR 5@l

C. SEEAFEEE]

D.  FEEAN (GHE

E. A% SEEI
VG TAG! @

1) ABECD

@ AEDBC

® D, CABE

@ EADBC

1. 1 [Option ID = 9445]
2. 2 [Option ID = 9446
3. 3 [Option ID = 9447]
4, 4 [Option ID = 9448]

Correct Answer :-
e 1 [Option ID = 5445]

S I SH-FA-RFS TRTR SFTT FAT STA17] M09 JIAT I BfF5] 197
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TP 20 P N AT -
A RerETeEs

B. fAas gl

C. R

D. #3I%e ToiRF

oG FAb] Ak

(), ABCD

@ ACDB

3 DCAB

4 BCAD

[Question ID = 2363][Question Description = Q85_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Optien ID = 9449]
2. 2 [Option ID = 9450]
3. 3 [Option ID = 9451]
4. 4 [Option ID = 9452]

Correct Answer -
e 1 [Option ID = 9449]

O 961 TF 4 AT AR | 957 SfF 6T I |

I F . Wl OFO4 a0 el SPIEE X I T FE, TP A RFI99 -

(AT S AT TREAR TR ST 34 TS 3, 9 Y700 Jaq 1=
BIPE A 93 A R a1 e G e |

PF o - IR ER TS I I APNERE 4 Te] 9 SrEed [kl 3 S5ane

A8 F9LT 93 A TR A6 FAE (1 |

8737 964) Y64 JNES O (FFGI 7 [T F41

D
@
6)
(4)

T Ol A AR 8% 99 Y @ 9 8 IR
T AR A TEOE B A TI ST TR TF
T BT IABH

T ONs U Bh

[Question ID = 2364][Question Description = Q86_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9453]
2. 2 [Optien ID = 9454]
3. 3 [Option ID = 9455]
4,

4 [Option ID = 9456

Correct Answer :-

e 1 [Option ID = 9453]

87)  oete 1 IeT et 951 S Srendt I

SfF F: TITET TN TS M5- TR *P (T2 (0, %7 4T (valgate) T (G

T ST FfeT SB1 (T A IS AN ST 5711 T TS BF o (TFIETS OFF O
T HHET $5RE TIRFIF T |

T - SIHTE 03T ANT == FS SFTSTT RS 3 4T GRS HOIEsn 7 I,

vt wof s o 1PERe TR TS S OE $REEE @R S35
TF T STFC AT TIEF I 545 FF |

3799 F54 Yibd ANEO OF (FEG] BT 4T $411

Pt TN

bt —r—r Car? T woRT— o fanrt rwr— S —amT— —rTReTT
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W T v T QIR wE VL Y VW T o v
(2) T I AGR O S T B I 1
() FUR Y ASE
4) T ImT AT By

[Question ID = 2365][Question Description = Q87_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9457)
2. 2 [Option ID = 9458]
3. 3 [Option ID = 9459]
4. 4 [Option ID = 9460)

Carrect Answer :-
& 1 [Option ID = 9457]

88) o o TEs G A 261 S ST I

OfF 7 . TAReIT MO AN oo F95 Wifers o 5 FI7 &, (S0 sEeay a@

Tfaere 99 534 )
IfE 4 AT N© SFed AR NS Qe TTHANET IIaTere 623] A 2
ST AT S (T 97 |

89T 959 Ybd JHES S (FEAGI 8% [T F411

(1) = WE Y FAGE 87 A ¥ & F T B W
@) T Y YGRS AT T O I Ay
@ T URYISH
(4) R EL L 1Y

[Question ID = 2366][Question Description = QB8_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9461]
2. 2 [Option ID = 9462]
3. 3 [Option ID = 9463]
4. 4 [Option ID = 9464
Correct Answer ;-

e 1 [Opticn ID = 9461]

&1 f% SfreaT|

3% - TSI RIS @B IS |

Q) R e R SIFei RFS |
@) Rl T3S s [few afe-amundly IR RFfes aF wifre 37|
(3) SRTs AfeT SEIFeR (T AFE TaN I |
@) SN IAEH SATEE K TS S|
[Question ID = 2367][Question Description = Q89_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9465]
2. 2 [Option ID = 9466]
3. 3 [Option ID = 9467]
4, 4 [Option ID = 9468]
Carrect Answer ;-
s 1 [Option ID = 9465)

70) werw 451 354 oy SR | ISIBIE RSN 5 IS 5o @ anrey Af Sfrsa -
SfE - ITRIE 15T 957 T I IS A 961 |
IF - oI TSR ImFE |

(1) i) (2) ISy

©9T® 951 IFF ¥ A® | IEAN6IE (7910 fofabr ey (& g ab1 ey Ife fmFy o) 5ies
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(3) MTF TSy (4) IMTF TS}

[Question ID = 2368][Question Description = Q90_ASSAM_SHAAN_4DEC_51_Shift1]

P |

[Option ID = 9469]

i

[Option ID = 9470]

(e

[Option ID = 9471]

4, 4

[Option ID = 9472]

Correct Answer :-

s 1

[Option ID = 946%]
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Topic:- Assamese_SET1_B

1

ST T T 97 A1) I==AAS APHS FHAEE A9 “(BIOAT S[eaT AP A9 SI8HT T6erel
77| 319 599F SANEE 599 AP 736, HNHoo [Wg-H1e TalEFE $IFE CTHERT 7g)
S FHAEE] a9 310 A J120 92 AP 131 TRE A2 2" $3113 (55 SANRET

g | 5Ha© T THRTTE FTGE] (92 SAF T3 2= (SIS S18a1e IREEE 195 919
(AR 20 G TP AR NAEFIE TR (72 ToF© (AR SAHES [0 STHF (TR
SR 94319 ( 99F IRIE FI2 STREE 3999 3941 Tfefee) 791 IHEE A% Hae 9984 33
DA (13 5e108 (SIS 916 [ 1T MefIene 5= 91 a7 | F5we sefEel FeEsE fofe 4
BTS2 THE8 FE1 . CINESE TFa A THEE A-TF8 I (@ W ST T 61
@FEF O5d T O (1 331 00 I8 Seae: FIMEE] Tare I 1579 F7 % (=T 241
N F1970S ST 1 TR TR (R SR | GRTEIST A o 91 310, I, [{3if<e
o SToaN FE | TR A 209 91 I, A, FA31F0 I A RF 1596 HAr
SOTA (F5T (@ (AEE TRIIAT TN T, (SEE (BIS TBTe RAT T3 (T F(4 (BN $41
| (W18 *Falb] TR < I (F1E1 2 | ASHNAF 7O (BIS THo1E A T ey, F68 A
AT SS9 @ M Aeed wel 91 2[FI8d T {66 WB1 . (SIS S18AS
PR THA-TAS S (R (R0 (2T oIS AT F241 T 4= =1 I

I SI8A] FFEE FATEIA 7aT A0 REEES & -

@
@
3
G

FHETT
IS S8

TS ST (TR STEeT S99 foetif a2 o |
ST

[Question ID = 2369][Question Description = Q91_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9473)
2. 2 [Option ID = 9474
3. 3 [Option ID = 9475]

4. 4 [Option ID = 947

Correct Answer :-

& 1 [Option ID = 9473]
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[Question ID = 2370][Question Description = Q92_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9477]
2. 2 [Option ID = 9478]
3. 3 [Option ID = 9479]
4. 4 [Option ID = 9480]

Correct Answer ;-
e 1 [Option ID = 9477]
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[Question ID = 2371][Question Description = Q93_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9481]
2. 2 [Option ID = 5482
3. 3 [Option ID = 9483]

4. 4 [Option ID = 9484

Correct Answer :-
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| ® 1 [Option ID = 9481]
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[Question ID = 2372][Question Description = Q94_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Option ID = 9485]
2. 2 [Option ID = 9486]
3. 3 [Option ID = 9487]

4. 4 [Option ID = 9488]

Correct Answer :-

& 1 [Option ID = 9485]
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[Question ID = 2373][Question Description = Q95_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9489]
2. 2 [Option ID = 9490]
3. 3 [Option ID = 9491]
4. 4 [Option ID = 9492]

Correct Answer ;-
e 1 [Option ID = 948%]
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Topic:- Assamese_SET1_C

1)
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[Question ID = 2374][Question Description = Q96_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9493]
2. 2 [Option ID = 9494)]
3. 3 [Option ID = 9495]
4. 4 [Option ID = 9496]

Correct Answer ;-
e 1 [Option ID = 5493]
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[Question ID = 2375][Question Description = Q97_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9497]
2. 2 [Option ID = 9498]
3. 3 [Option ID = 9499]
4, 4 [Option ID = 9500]

Correct Answer :-
a 1 [Dption ID = 9497]
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[Question ID = 2376][Question Description = Q98_ASSAM_SHAAN_4DEC_51_Shift1]
1. 1 [Optien ID = 9501]
2. 2 [Optien ID = 9502]
3. 3 [Optien ID = 9503]
4. 4 [Option ID = 9504]

Correct Answer ;-
e 1 [Option ID = 9501]
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[Question ID = 2377][Question Description = Q99_ASSAM_SHAAN_4DEC_S1_Shift1]

oW =

Correct Answer :-

. 1 [Optien ID = 9505]
2 [Option ID = 9506]
3 [Option ID = 9507]
4 [Option ID = 950

& 1 [Option ID = 9505]
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[Question ID = 2378][Question Description = Q100_ASSAM_SHAAN_4DEC_S1_Shift1]
1. 1 [Option ID = 9509]

2. 2 [Option ID = 9510]

3. 3 [Option ID = 9511]

4. 4 [Option ID = 9512

Correct Answer :-

e 1 [Opticn ID = 9509]

Topic:- 04th_SET9_A

1) Tables I and II below present analysis of people involved in a total of 10,000 road accidents
which happened in Delhi during the year 2020 in accordance to both analysis of severity and
fatalhities. Taking it. on an average three (3) people were involved in each road accident. In
accordance with the data in the tables. answer the questions :

Table — I : Analysis of Severity Table — II : Analysis of Fatalities
Uninjured 47% Head Injuries 69%
First-Aid Required | 6% Damage to Internal Organs | 21%
Mild Bruises 9% Fire Casuality 3%
Hospitalization 19% Blood-Loss 7%
Fatalities 19%

What 1s the number of people who died of head injuries in accidents 1n Delhi during the

vear 20207
(1) 7187 (2) 2207
(3) 1311 (4 3933

arofi I e gt 11§ e saifen = fagem 2 < mfiean g grenfasar 391 = fagetanr & sgam a9
2020 ¥ fooelt @ F9 10,000 WS THAA d MEA 4 | THH TF U4 A1 2 TOF USF gUen §
st dF (=afFa) mifer 2 groft 0 {5 T sel SR W aYT F I e

wreft I Tefreen 1 oo Tt T1 Herrtaaal 1 e

i = A8 3 47% 5= far m =iz =i 69%

T mts e #1 smawEEa | 6% o a=fs oM = THEr | 21%

K Kkl

e gehl A1 gl 9% o o & 9 % R 9 | 3%

e STae H well o T 19% ol @7 w8 9= % wRw 0 | 7%
A

ol g & 19%

T 2020 ® foeedl § iR W = v wud gHemen U W AW wataat S gem e

@ 7787 (2) 2297
(3 1311 (49) 3933

[Question ID = 2729][Question Description = Q1_GP_SET9_S1_5Shift2]
11

[Option ID = 10913]
2.2
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[Option 1D = 10914]
£

[Option ID = 10915]
4, 4

[Option ID = 10916]
Carrect Answer :-
& 1

[Option ID = 10913]

Z) Tables I and II below present analysis of people involved in a total of 10,000 road accidents
which happened in Delhi during the year 2020 in accordance to both analysis of severity and
fatalities. Taking it. on an average three (3) people were involved in each road accident. In
accordance with the data in the tables. answer the questions :

Table — I : Analysis of Severity Table — II : Analysis of Fatalities
Uninjured 47% Head Injures 69%
First-Ard Required | 6% Damage to Internal Organs | 21%
Mild Bruises 9% Fire Casuality 3%
Hospitalization 19% Blood-Loss 7%
Fatalities 19%

For a person involved in an accident, the likelihood of escaping uninjured 1s P times that of
dying by Fire. Then. approximately P will be equal to

(1) 12 (2) 82
(3) 200 @ 15

arull I @en groft 11 9 g =afdaal = fageram 2 5 fian a2 amriasar g7 % v % a9 9y
2020 # feoett § T 10,000 HSF gEINAI | NS ¥ | W T3 U1 IO 2 O ISIF WSF gHedl H
Fitge i (=3f%a) wfter 3 goft °§ 5 e sieRel  SER 1T 9w I it

aweli 1 Tefiar =1 fawemo qroft I1 Tty = faaor

= G TR 5U 47% o= fom = = =i 69%

52 wlre fafkan f omayem | 6% s rraf o w TR | 21%

5% Tt = wEt 9% fSrmh oM @ 9= % FE 9 | 8%
S

T8 oroqarer o sl fen T 19% ff &3 w2 o % T g | 1%
i’ J

el gog 21 19%

el gem @ wifae B9 T et =afFa % fau gt s fren Y umET s % wwe 5w A

GUTEHT =t g B Paon 2 | 99 P e = G B |
(1) 12 2y 82
@) 200 @ 15

[Question ID = 2730][Question Description = Q2_GP_SET9_S1_5hift2]
1. 1

[Option ID = 10917]
2. 2

[Option ID = 10918]
3 3

[Option ID = 10919]
4. 4
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[Option 1D = 10920]

Correct Answer :-

LI

[Option ID = 10917]

3) Tables I and II below present analysis of people involved in a total of 10.000 road accidents
which happened in Delhi during the year 2020 in accordance to both analysis of severity and
fatahities. Taking it. on an average three (3) people were involved in each road accident. In
accordance with the data in the tables. answer the questions :

Table — I : Analysis of Severity Table — II : Analysis of Fatalities
Uninjured 47% Head Injures 69%
First-Aid Required | 6% Damage to Internal Organs | 21%
Mild Bruises 9% Fire Casuality 3%
Hospitalization 19% Blood-Loss 7%
Fatalities 19%

In cases. where accidents vietims had to be hospitalized. the average number of days spent
by the persons in hospital comes to four (4). What was the total number of hospital days
spent by the victims involved 1n accidents 1n Delhi during the year 20207

(1) 22,800 (2) 24,600
(3) 54,600 (4) 10,400

aruil I @ groft 11 9 e safdaen = fageram 2 5 mofiean aor amriaskar g7 % faveen % e 9y
2020 ¥ fooelt @ F 10,000 WS gHNA d MESA 4 | THH Tg A1 Aol 2 TOF USF gUon §
sitaaa o (=afFa) miter o) gl 7 fou T sRel F SER T aeE F S ot

Tt 1 e = foemo ARon T Wetal 1 e

S =T 98 3 47% o= far w0 = oot 69%

T mts e 1 smawEEa | 6% o am=fs oM = THEr | 21%

G Kkl

T2 Zoeh! =ie uge 9% o ot o 9 % R geg | 3%

8 ST | well o 19% 5l o7 78 9= ® wRw uE | 7%
]

[EREIR- R R 19%

UE "Wl A, 9@ gheA A W9ilaR Suidadl i swyare YgEr T, UE safaat A stedare H sfiEdd 9 n
(4) T&a fommd | a9 2020 o fewett @ Az gueat 4 wdifag «il 3 swga # Fe Fead 39 fae?

(1) 22,800 (2) 24,600

(3) 54,600 (4) 10,400
[Question ID = 2731][Question Description = Q3_GP_SET9_51_5hift2]
1. 1

[Option ID = 10921]
2. 2

[Option ID = 10922]
3, 3

[Option ID = 10923]
4, 4

[Option ID = 10924]

Carrect Answer :-
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[ & 1

[Option ID = 10921]
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4)  Tables I and II below present analysis of people involved in a total of 10,000 road accidents
which happened in Delhi during the year 2020 in accordance to both analysis of severity and

fatahties. Taking it. on an average three (3) people were involved in each road accident. In

accordance with the data in the tables. answer the questions :

Table — I : Analysis of Severity

Uninjured 47%

First-Aid Required | 6%

Mild Bruises 9%
Hospitalization 19%
Fatalities 19%

Table — II : Analysis of Fatalities

Head Injuries 69%
Damage to Internal Organs | 21%
Fire Casuality 3%
Blood-Loss 7%

From the data in Tables I and II. it can be concluded that :

(1) drunken driving is dangerous.

(2) more accidents happen at night because of fatigue and poor visibility

(3) motoreycle drivers are at a greater risk of being involved in an accident than

automobile drivers,

(4) the likelihood of surviving an accident is greater than that of dying in an accident

arull I @en groft 11§ g safdaal = fageam 2 5 Tofiean o weriasar g7 % e % a9 9y
2020 ¥ fooelt @ F 10,000 WS gHAA d MESA 4 | THH TF UG I 2 IO USF gUen §

st dF (=afFa) mifer 2 groft 0 {3 T set F SER W 99T F I G

mwef] I e =1 ferero TRETt TT Heniasal 1 Sy

i = A8 3 47% 5= far m =iz =i 69%

o mufrs ffeen H smagasa | 6% s i o w0 THEE | 21%

G Kl

5% gt e v 9% o o @ 9 % o g | 3%
5

e STae H well o T 19% ol @7 w8 9= % wRw 0 | 7%
]

ol g & 19%

anoft 1 3R I ¥ fou 7 s1isst % 3aR, 97 et e s o 2

(1) s di= T S @A |

(2)  oFRF T FH GYAA1 F WAV TG H AH G B |

(8) FR ueHl (3RMiEEe g5ad) 6 g T AREmsted ardel B [l ghedt 1 WER g A

e, Y
HITH Gl 2l 7 |

(4) TR g § geg 7 SH 1 g1 o gHeAT °§ aed ol qureAr sfaw 2kl 2

[Question ID = 2732][Question Description = Q4_GP_SET9_51_5hift2]

1. 1

[Option ID = 10925]
Z. 2

[Option ID = 10926]
3.3

[Option ID = 10927]
4, 4

[Option ID = 10928]
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Carrect Answer :-
* 1

[Option ID = 10925]

5) Tables I and II below present analysis of people involved in a total of 10.000 road accidents
which happened in Delhi during the year 2020 in accordance to both analysis of severity and

fatalities. Taking it. on an average three (3) people were involved in each road accident. In
accordance with the data in the tables. answer the questions :

Table — I : Analysis of Severity Table — II : Analysis of Fatalities
Uninjured 47% Head Injures 69%
First-Ard Required | 6% Damage to Internal Organs | 21%
Mild Bruises 9% Fire Casuality 3%
Hospitalization 19% Blood-Loss 7%
Fatalities 19%

Approximately. what is the ratio of the number of people who escaped with mild bruises
in an accident compared to the number of people who died due to blood-loss in an accident?

(1) 1:5 (2) H:8:2

(3) 6:8:1 {4y 15:8

arefl I @on orofi 11 ¥ o sfwE o favemw 2 0 v aon amniasar g9 % faveim % sgam ay
2020 # fooett § T 10,000 HSF gEINAI | THS ¥ | 35 T3 Ul IO 2 O TSIF WSF gHedl H
Fitge i (=3f%) =it 3 Tl 5 e seRel R SER 9T 99 9T ST

aweii I Tefiar =1 fagemo Trolt I1 et =6 fagaror

= G TR 5 47% = i = = & i 69%

92wl ffran f omayawa | 6% o i @M o Ta | 21%

5% Tt = wEt 9% fsrm o @ 9= % FE 9 | 3%
5%

% Toqaa 1 il T 19% 57l 57 -8 98 F w9y | 1%
% ]

forefl gog 21 19%

TRt gUer U ATy @ w7 IF % R0 W g SAfagal S go H R gge W ekl 9 I W
o9 - el sAfFaal T GE I 9 3

(L 1:5 (2 b:5:2
(3) 6:8:1 (4) 15:8

[Question ID = 2733][Question Description = Q5_GP_SET9_51_5Shift2]
1. 1

[Option ID = 10929]
Z. 2

[Option ID = 10930]
ai

[Option ID = 10931]
4, 4

[Option ID = 10932]

s
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Topic:- 04th_SET9_B

1) Which of the following are the characteristics of adult learners?

&)
(B)
(©)
(D)
(E)

Physiological growth

Increased focus of activities with peer group
Exercise self control

Ability to act rationally

Learning to be independent of guidance and contyrol

Choose the most appropriate answer from the options given below :

(1)
(3

(A) and (B) only (2) (B) and (C) only
(C) and (D) only 4) (O (D) and (E) only

Titg srttrmeatett ) Fefafen & 2 29 o e 27

A
(B)
©)
D)
(E)

st gfg

Huher Gl b Wiy it 9 st e 3|
S RECER

TR T Y B B AT

arfepm wpfext oft o g S =t )

e fau o forret O © @Y SuFdd 3T W wEA HINT -

1)
(3)

el (A) 3R (B) (2) =Had (B) 3R ()
3 (C) R (D) @) = (C), (D) IR (E)

[Question ID = 2734][Question Description = Q06_GP_Set?2_51_Shift1]
1. 1 [Option ID = 10933]
2. 2 [Option ID = 10934]
3. 3 [Option ID = 10935]
4, 4 [Option ID = 10936]

Correct Answer :-
a 1 [Option ID = 10933]

2) Given below are two statements !

Statement 1 :
Statement IT: A teacher should connect knowledge to life outside the school.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true
+= gt = fog e E
FoA (I):  Toges =1 78 gRfTaa = wifae &6 oifirm @ (e o) v a g e

o (I1) :  fiveger 6t 9 i Tba § 91eL & a7 & T greg R AR |

IUTE Y = e 4, H9 8 e et § 9 uEt 39 W wwe Fifa

(1)

T [ 3R I aFf ot 2 |

A teacher should ensure that learning is shifted away from rote method.
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(2)
(3
(4)

Fu 1 11 1124 o185 & |
w1 °ca 2, afe o 11 o5 2

Fo 1 3107 2, i 5o 1L aem 2|

[Question ID = 2735][Question Description = Q07_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10937]
2. 2 [Option ID = 10938

]
3. 3 [Option ID = 10939]
1

4. 4 [Option ID = 10940

prepp
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3)

In student centred approach. a teacher:

(1)
(2)
(3)
(4)

maximizes use of extrinsic rewards
encourages students to take increased responsibility
uses appropriate teaching-learning materials for effective teaching

teacher tries to relate present with the past

WE-Shi~gd Y H e

(1)
(2)
(3)
(4)

SITE G b7 AT ¥ iR 39arT SRt 3 |

BTl aAfter Frerl o + T weafea = 21

vty firen % forw sfea feor-arftrm gl =1 v e 2
feaes S <Rl ARl o U1 TG T ST T SR ¢ |

[Question ID = 2736][Question Description = Q08_GP_Set9_S1_Shift1]
1, 1 [Option ID = 10941]
2. 2 [Option ID = 10942]
3. 3 [Option ID = 10943]
4. 4 [Option ID = 10944]

Carrect Answer :-
& 1 [Option ID = 10941]

4) Environmental factors which influence student learning ave :

(&)
B)
(©)
D)
(E)

Interest
Family
Motivation
Commumnity

Socio-cultural diversities

Choose the most appropriate answer from the options given below :

(1)
(3)

(A), (B) and (C) only (2) (B). (C) and (D) only
(A), (B) and (E) only 4 (B). (C) and (E) only

BT ST = Wl W I I gad HE i
(A)
(B)
(C)
D)
(E)

e

(1
3

stidfa
o125 £
STfTSIon

qHaE
I -HEPid [AlTaary

fow 7 forepedl W O woE UG I T T HIAT ;

Fad (A), (B) 3R (C) 2 Fa= (B), (C) 3R (D)
+a (A), (B) 3R (E) @) =FFd (B), (C) 3R (E)

[Question ID = 2737][Question Description = Q09_GP_5Set%_51_Shift1]
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1 [Option ID = 10945]
2 [Option ID = 10946]
3 [Option ID = 10947]
4 [Option ID = 10948]

N N PR o Y

Correct Answer :-
e 1 [Option ID = 10945]

5) The objective of reflective level teaching is :

(1) To impart knowledge to the learners.
(2) To develop 1nsight into the learners to solve problems.
(3) To make students relate facts with the principles.

(4) To encourage students to apply knowledge 1n similar and different situation.

fepredi =R % foreaor =t a1 Seawa B 7

(1) wftrmerated = 99 9GF w0
)  wweER % gweE % e siferergian F gy i wen
(3)  BE I 9L gl % WY Geag w6 7 FEA

(4)  BE AR WA o0 i ffe 9 i e 5 R weafEa e |

[Question ID = 2738][Question Description = Q10_GP_5Set9_51_Shift1]

1. 1 [Optien ID = 10949]

2. 2 [Optien ID = 10950]

3. 3 [Optien ID = 10951]

4. 4 [Option ID = 10952]

Correct Answer ;-

e 1 [Option ID = 10949]

6) Concepts that are not amenable to operational definitions are known as

(1) Theoretical concepts (2) Hypothetical concepts

(3) Conventional concepts (4) Inferior concepts

T GHECTN GisraTenss aieTweT & arefi 9 o 3, 3% w9 weg 27

(1)  Agifas ggeand (2)  GiEFeTART® AheTTd
(3)  URAiE FFHeqAr @) B s

[Question ID = 2739][Question Description = Q11_GP_5Set9_51_Shift1]
1. 1 [Option ID = 10953]
2. 2 [Option ID = 10954
3. 3 [Option ID = 10955]
4. 4 [Option ID = 10956
Correct Answer :-

e 1 [Option ID = 10953]

7) A scientific approach in sccial science research should take into account

(A) Metaphysical elements

B) Spurious relations

(C)  The factor of co-variation

(D)  Time order

(E)  The possibility of theorisation

Choose the most appropriate answer from the options given below :

O @A), 1B). () only 2) (B). (C), (D) only
3 (©), (D). (E) only @ @A), (B). (E)only
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e fasm iy ° 33 surm § B w1 em e Ten

(A) R s

(B)  svEriEE HEY

(C) Ge-—iEdT F1 BF

(D) =i A

(B) Togrlist 6 gvmam

#5 feu U freul § W Ol SO E 999 FIeT

(L)  F=F A). B), ©) 2 F (B), (C), (D)
(3 == (C). (D). (B) 4 =99 (A), (B), (B)

[Question ID = 2740][Question Description = Q12_GP_Set2_51_Shift1]
1. 1 [Option ID = 10957]
2. 2 [Option ID = 10958]
3. 3 [Option ID = 10959]
4, 4 [Option ID = 10960]

Correct Answer :-
e 1 [Option ID = 10957]

8) Given below are two statements :

Statement I: Manipulation and control are two important possibilities 1n natural science

research.
Statement IT: Not many phenomena can be manipulated and controlled by social scientists.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement II 1s true

Fo A weA fo o 2

® (T): =T 3R FEom Wrpfas B o i #) 51 Secaqul S9EET § )

oy (ID) ;. gae fagri=e) gy =S 921t =1 208 S ey 987 e = gean 21

YR FRA I 8, {9 7By e Fwed 3 8 w6 o w2 Fie
(1)  =oa IR I3 a1 2 |

2y e I &R I M1 o/ & |

(3) = 1O 2, o v I o 2 |
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1) =FElsmas atmsEmIaai|

[Question ID = 2741][Question Description = Q13_GP_Set9_S$1_5Shift1]
1. 1 [Option ID = 10961]
2. 2 [Option ID = 10962]
3. 3 [Option ID = 10963]
4, 4 [Option ID = 10964]

Correct Answer :-
e 1 [Option ID = 10%61]

?) Identify the correct sequence of steps in the research process as identified by David

Nachmias ;

(A) Research design

(B) Data collection

(C) Formulation of hypothesis

(D) Data analysis and generalisation

(E)  Problem identification

Choose the most appropriate answer from the options given below :
(1) @ ®B). ), D). E) 2) (B). (C), D). (E). (A)

3) (O, D). (E), ). (B) @) (E). (C), (&), (B), (D)
2fere F=fimma gra sifisa o afma % =eon % wdl w A ugEE =l |
(A) =y iRy
(B) <@ W
(C)  giewegn w1 fako
D) g fayauor ik gmfer

(E)  aue #i e

4 fiu 7o fasmedt 9 © TE SR W 9 i
(1) (A, (B), (C). (D). (E) @ (B, (C). D). E) A
(3) (C), (D). (E), (A4). (B). @) (E). (C), (A). (B), (D)

[Question ID = 2742][Question Description = Q14_GP_Set9_S1_5Shift1]
1. 1 [Option ID = 10965]
2. 2 [Option ID = 10966]
3, 3 [Option ID = 10967]
4. 4 [Option ID = 10968

Correct Answer :-
& 1 [Option ID = 10965]

10) nfatch List I with List II :

List I List IT

Paradiem Advocate
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(D (A)-(I). (B)-(ID), (C)-IV), (D)-{1II)
2 (A)-(TI), (B)-(III), (C)-IV), (D)-(T)
3 (A)-(IID). (B)-(IV), (C)-(D), (D)-I)
4 (A)-AV), (B)-dID), (C)-(ID), (D)-(D
-1 % | G- = e Fifsm
=1
PIGLIE|
(A) TeaEETd
(B) =AEATTF
(C) THieeT=
(D)
I 733 o fremedt 9 O T SR W T ST
(L (A)-D), (B)-(ID. (C)-(IV), (D)-(IID)
(2) (A)-AI). (B)-(I1I). (C)-aV), (D)-(T)
3 (A)-AID), (B)-(IV). (C)-(D). (D)-ID)
(4) (A)-AV), (B)-AII). (C)-AL), D)-D)

()
(B)
©)
(D)

Positivist
Interpretive
Critical
Feminist

(I) L. Thompson
(II) Stuart Hall

(ITII) Max Weber

(IV) Augustus Comte

Choose the correct answer from the options given below :

TAYH
(I) U<, 99EA
D) TIF T
dID HFE =%
IV) = T

[Question ID = 2743][Question Description = Q15_GP_5et9_51_5Shift1]

N S PO L ey

Correct Answer :-

. 1 [Option ID = 10969]
2 [Option ID = 10970

3 [Option ID = 10971]
. 4 [Option ID = 10972

e 1 [Option ID = 10969]

1) Source credibility in communication enables :

(1)
(3)

Gate keeping

Semantic jugglery

gy § |id < favagHiEar B 9vg s 2

(1)
(3

gR - TR
AT - et

[Question ID = 2744][Question Description = Q16_GP_5et9_51_5Shift1]
1. 1 [Option ID = 10%73]
2. 2 [Option ID = 10974]
3. 3 [Option ID = 10975]
4. 4 [Option ID = 10976]

Carrect Answer :-
& 1 [Option ID = 10973]

(2) Message acceptance

(4) Controlled frames of reference

(2) T=w - W
@) =l F e =

Which of the following indicates warmth in communication?

(A)

(B)

(€)

D)

Social distance
Status equation
Natural eve contact

Kinetics

prepp
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(E)

Innocent smile

Choose the correct answer from the options given below :

(1) (4). (B) and (C) only (2) (B), (C) and (D) only
(3) (A), (D) and (E) only 4) (C). (D) and (E) only
=1 § F o § st ot 27
(A) Tt gl
(B) Toafa i

(C)  urFkrs ¥ ¥ oitg = firermn

D)

(B) Fowue 958

f3 fiu u fosrewi # § OE) SO % 9 iR

(1)  FFa (4), (B) 3 () (2) = (B), (C) 3R (D)

(3)  %aw (A). (D) ¥R (E) 4) =as (C). (D) K (E)

[Question ID = 2745][Question Description = Q17_GP_5Set9_51_Shift1]
1 [Option ID = 10977]
2 [Option ID = 10978

1.
2.
3. 3 [Option ID = 10979]
4. 4 [Option ID = 10980

Correct Answer :-

e 1 [Option ID = 10977]

13} Given below are two statements : One 15 labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  The linkage between language and non-verbal signs 1s an important part of

classroom communication.

Reasons (R) If the classroom setting 1s cross-cultural then masterv over language is

adequate.

In the light of the above statements. choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) is false but (R) is true

= 3 w9 w2, v stfum {AssertiﬁnA)%Eﬂﬁ%ﬁEﬁ%Eﬁ?@ﬁm%W (Reason R) %

Eﬁﬁ:

prepp
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R (A) wTaT 3 A-wiflger Gedt % WS ST BTG WG W HEeaqu U 2 |

*R0T (R) : I HET B GTASH I ieplaeh B al WrT i weliorar srfae a st 2|

SRR oA % e 1, 9 e T el # @ wd s = = iR

(L) (A) 3R (R) 31 Te7 2 3R (R), (A) 1 =t = 2 |
@) (&) 3R (R)IF T £, A (R), (A) Fi @ = w2
(3 Q) TF 32, aFF ®) e § |

@ (&) ¥ &, IFE R) T 3

[Question ID = 2746][Question Description = Q18_GP_5Set%_51_Shift1]

1
2
3.
4

. 1 [Option ID = 10981]
. 2 [Option ID = 10982]
3 [Option ID = 10983]
. 4 [Option ID = 10984]

Correct Answer -
e 1 [Option ID = 10981]

14) The sequence of barriers to reception clasgsroom communication is :

(A)  Attitudes
(B)  Anxiefies

(C)  Expectations

(D)  Needs

Choose the correct answer from the options given below :

1 @&). D). (C). B) 2) @A) B), (O). D)
@ B. 0.0 @ D). B), (©). (A

FEAPT GG H W & for sremett i yewen 2

@) sttt
(B) =
(C) s

(D) HHTHHAN,

H19 feu v ooyt © O A o = ==a Hi

1 @A. O ). B @ @), B ©C). D

prepp
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3 B.0 O (4) (D), (B). (C). (&)

[Question ID = 2747][Question Description = Q19_GP_Set9_S1_5Shift1]
1. 1 [Option ID = 10%985]

2. 2 [Option ID = 10986)

3. 3 [Option ID = 10987)

4. 4 [Option ID = 10988]

Correct Answer ;-

» 1 [Option ID = 10985]

13) Match List I with List II

List I List IT
Tvpe of communication Example
(A) Phatic (I)  Touch
(B) Grapevine (I) Decoder becomes encoder
(C) Tactile (II) Informal, sometimes rumour
mongering
(D) TFeedback (IV) Small talk

Choose the correct answer from the options given helow :

(L @D, B®-AD. (O-AV). (D)-dID)
@  A-AD. B-(IV). (O)-dID, O)-O
(3 (A-AV), B)-dID. (C)-@). (D)-UD
@  A-AID. B)-AV). (C)-AD. O)-D

g=ii-1 % @rer geit-11 = e it
-1 Tt-11
TEIT % TR EiE
(&) FieF O T
(B) T A1) Tagea=® Gas o =77 2 |
(C) e A1) s, Ffi-wd) srwes - -
D) HEF @V) ot =

e & 7o fawei 0 O Td ST # g9 it
(1) (A)-(D). (B)-1I). (C)-(I_V), (D)-(I1I)
(2) (A)-(ID. (B)-(IV). (C)-(III). D)D)
(3) (A)-(IV), (B)-(IID), (C)-(D). (D)-(ID)
(4) (A)-IID), (B)-(IV). (O)-ID). (D)-(D)

[Question ID = 2748][Question Description = Q20_GP_Set9_S1_Shift1]
1. 1 [Option ID = 10989]

2. 2 [Option ID = 10990

3. 3 [Option ID = 10991]

4. 4 [Option ID = 10992]
Correct Answer ;-

& 1 [Opticn ID = 10989]

16) The rates of simple interests in two banks A and B are in the ratio 5 ; 4. A person wants to
deposit his total savings in two banks in such a way that he receives equal half vearly

interest from both. He should deposit the savings in banks A and B in the ratio
() 5:2 2 2:5

(3) 4:5 (4 5:4

A a1 B3l sl H Arawor =S oA g0 5 ¢ 4 %k A 8, Uk ofigd AUl Wi S | skl § 39 TR
ST FET GTEdl 2 76 9% ol o st sdaniish s o | 3% oTat §ud ® 39 g awml A S B ¥
%@ ST o S ST TR ¢

(1) 5:2 2 2:5

(3) 4:5 4 5H:4

[Question ID = 2749][Question Description = Q21_GP_5et9_51_Shift1]
| 1. 1 [Option ID = 10993]

prepp
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| 2. 2 [Option ID = 10994]
3. 3 [Option ID = 10995]
4, 4[0pt1ﬂn ID-1{}996]

Correct Answer :
e 1 [Opticn ID = 10993]

prepp
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17) Thyee galsses are filled with a mixture of milk and water in the ratio 4 : 3, 5:4and 7: 6

resectively. If the contents of three glasses are poured into a single vessel. then the ratio of

water to milk in the new vessel 1s :

{1) (ifré-;-i](ﬁ_pi-'rﬁj
7T 9 13)\7 9 15

5 7
(3 (1+1+1)[ +4+6]

(2} (E+E+IJ(E+E+E]
3 4 6,\4 H 7T

(4) 3+4 E .i+£+_f
7 9 13 { 9 13

"y By

ga iR a1 % My | a4 e 403, 5: 4 3R 7: 6% TG ° 9 3¢ 3, R i o f
areft v i o 39 & g Al 3 s § U ik g4 I 2

i [ReBpet [0 e B )
7 9 13)\7 9 13
(3) {1+1+1}:(i+i+T—1 (4)
(3 4 6]

[Question ID = 2750][Question Description = Q22_GP_Set9_S1_5Shift1]

1 [Option ID = 109%7]
2. 2 [Option ID = 10998]
3. 3 [Option ID = 10999]
4. 4 [Option ID = 11000]

Carrect Answer :-
s 1 [Option ID = 10997]

18) A certain culture of bacteria quadruples every hour. If a container with these bacteria was

half full at 10 pm, at what time was it one-eighth full?

(1) 9 a.m.

(3) 6 p.m,

w fomm wr & sSedifon it ave Sgifoa = a2, oFR Sedien o s 3em W 10 5 TS B ST 0

B30 o7 91 7% FRae st 1/8 (T 31375) W e i ¢

() 9™ gwg (2)

(3) 6% R 4

(2) 4a.m.

(4) 9p.m.

455 goIE

9 &t Tif

[Question ID = 2751][Question Description = Q23_GP_Set9_51_Shift1]

1 [Option ID = 11001]
1 2 [Option ID = 11002]
3. 3 [Option ID = 11003]
4. 4 [Optmn ID = 11004]

Correct Answer :
e 1 [Opticn ID = 11001]

19)  Given below are two statements :

Statement I :

The halves of diagonals and a side of a rhombus form a right angled triangle
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with side as hypotenuse.
Statement II : Area of a parallelogram is given by Base x Height.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3 Statement I is true but Statement II 1s false

(4) Statement I 1s false but Statement II is true

fH g FA e mE

H9 () : b goEgds i TF g SR faeorl % s1e wi v aneir e # ot ww 2 el o

11 =) gt | |
FH (1) : TR TGS T &EHe U T SR @ SR W OEEE 2 B 1 (AR = ATUR X )
YRR YT % TR §, e i e feeedi § @ |@) sa w 99a AR

(1)  wem I s 12 o 3
2y =y I AR I 2AT 218 2 |
(8) = 15 3, o =y 11 o7 2 |

(4) A I owca 2, afe A Il o 2

[Question ID = 2752][Question Description = Q24_GP_Set9_S1_5Shift1]
1. 1 [Option ID = 11005]
2. 2 [Option ID = 11006]
3, 3 [Option ID = 11007]
4, 4 [Option ID = 11008]

Correct Answer :-
& 1 [Option ID = 11005)

20) Consider the following statements:

(A) A succession of numbers formed and arranged in a definite order according to certain
definite rule, is called a progression.

(B) Two numbers are said to be priume, if their H.C.F. 15 2.

(C) A number is divisible by 9, if the sum of its digiis 1s divisible by 9.

Choose the correct statements frrom above :

() (A) and (B) only (2) (A and (C) only

(3)  (B) and (C) only (4 (&) (B)and (C)
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sraifarfiaa =ui 7 fem file

(A  wiawa Fiva Fral % srEr s gemet 1 e ik sy (w gRivea w ) Aol

(ST et 2 |

(B) < UEAE R39S HEAE HEATdl & SN ST GEad SA® 2 F |

(C) SR et Heen % of Rl & A 9 & W9 & a1 9% "o At 9 9 wilsm & st

f3 fom e fweul § ¥ 98 SR w0 999 Hifew

(1) a9 (A) 3R (B) (2) Fa (A) 3R (C)

(3) A (B) I (C) @ @), ® 3% (©

[Question ID

1.
2.
3.
4.

Correct Answer :-

= 2753][Question Description = Q25_GP_5et%_51_Shift1]
1 [Option ID = 11009]
2 [Option ID = 11010]
3 [Option ID = 11011]
4 [Option ID = 11012

e 1 [Option ID = 11009]

21) Given below are two statements :

Statement I: If we infer “Socrates 1s a man, because he 1g mortal” we commit the fallacy

named as sadharana by Classical Indian Logicians.

Statement II : An imference is fallacious if the middle term 1s found to be common to both

the major term and its opposite. Such fallacy 1s named sadharana.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement 11 are true
(2} Both Statement I and Statement Il are false
(3) Statement I 1s true but Statement II is false
(4) Statement I 1s false but Statement II 1s true
T ot wom ffr e 2
wuA ([): TR W A B GHUd UH HAG & ik a8 WO B 79 AR A il
F R YR 2ot d U 3 |
oA (1D : UF S0 YIRS 20 & 7R A% WG, W@ W 991 S8 [H9dd U 1 SHAHE 7, T e

‘T’ ST 2

e

SULR FE F eE 5, T B T Heed 8 8 o s W 9= it
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F I TR I3 7 2 |

FA 1 31 II Sl o7 F 3 |

%ﬂqlarﬂ%, it FeF 11 37ca 2 |

FoH I 78 2, A0 5o I 2|

[Question ID = 2754][Question Description = Q26_GP_5et9_51_Shift1]

1.
2
3.3
4. 4

Correct Answer :-

1 [Option ID = 11013]
2 [Option ID = 11014
[Option ID = 11015]
[Optien ID = 11016

e 1 [Option ID = 11013]

22)

.
HAH

The space program deserves increased expenditure in the vears ahead. Not only does the
national defense depend upon it. but the program will more than pay for itself in terms of
technological snipoffs. Further more, at current funding levels the program cannot fulfill its
anticipated potential”. What is the conclusion in the above argument?

(1) The national defense depends upon the space program.

(2) The space program deserves increased spending in the years ahead.

(3) The space program will more than pay for itself in terms of technological snipoffs.
(4) At existing funding levels the space program eannot fulfill its anticipated potential.

ATt TH W SANGT FHH TaTdd =4 W U 2 | 7 had g gen B 3@ m vk 2, ofig 7w e

TRIT-a0% % ¥ H A9 ol o sgd B 4w ¢ | 5w orfate Feadam Ffes wR woTw e
qe AT weHTe Rt U A W geRan 2 ) I9daa gfea | aform w27

(1)
2)
(3
(1)

T geen sy we TR 2

STH It 91 B sTaie FET Gaiid o5 % U 2 |

FTL HAhY deh-eh—aUeT = w9 H & UL 559 U (R 99 21 o)

Taremm ffaor v w a=aRe weiwy gaigmia e # qu T8 o g 2 |

[Question ID = 2755][Question Description = Q27_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11017]
2. 2 [Option ID = 11018]
3. 3 [Option ID = 11019]
4. 4 [Option ID = 11020]

Correct Answer :-
s 1 [Option ID = 11017]

All mortals are men.
Socrates 1s mortal
Therefore Socrates 18 a man.

Which of the following statements are true of the above argument?

(A) Above arguments 1s sound.

(B) Above argument is valid.

(C)  Above argument 1s fallacious.

(D)  Above argument commits the fallacy of undistributed middle.

Choose the correct answer from the options given below :

(1) Only (A) and (B) are correct (2) Only (A) 1s correct
(3) Only (C) is correct (4) Only (C) and (D) are correct

aeft gorfte w7 3 |

Yertia AT 3 |

TafAT gHUE WA ¢ |

frefarfaa =l § o swiwa 3 & ey | = O wer 37

(A)
(B)
(©)

s 3fFa 7 2
Sygaa Ifaq rmrfirs 2 |
I IfFT 9T 3 |
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M) IFYF FiFd ARGHG A ZoaH™ d 95 7

1 fam 7o ferewt § © WS S W o i

(1) = (A) 3R (B) 781 3 ©) Fad A) T E

(8)  haw (C) udl 2 (4) *ag (C) ¥k (D) wet &

[Question ID = 2756][Question Description = Q28_GP_Set9_S1_5Shift1]
1. 1 [Option ID = 11021]
2. 2 [Option ID = 11022]
3. 3 [Option ID = 11023]
4. 4 [Option ID = 11024)

Carrect Answer :-
s 1 [Option ID = 11021]

24) Given below are two statements :

Statement I: “Everv thinkable 1s nameable, because 1t 1s thinkable”. This 1s a fallacious

arguments because there can be no inference where the minor and the

middle terms are the same.

Statement II: The fallacy committed in this statement is called the extra-ordinary

(asadharana) because the middle term does not belong to anything other

than the present minor term.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true
= 2 e feg e €

we () ;v femofr 2, sifhdumas 2, w9l ag femofa 21 @ s 9w agfda 2 agits ag

A B 8 78T wenar wgt it i A ug vk #

%97 (II) : 0 HUF ¥ T ScaTSI =l TR gl ATa1 & FH11h AL 9 o™ 7oy ug + ifaiiad 3=

forelt o= & Teafm i 21

I YA ATARE H, 19 12w e fasredl § 9 92 36 == iy ;

(1)
2)
(3)
4)

o I ofit I1 2 5en B |

T 1 ot 112 19 2 |

Fom [ 9ea 2, St e 11 o/8ca 2 |

w9 [ 918 2, af s I 2

[Question ID = 2757][Question Description = Q29_GP_Set9_S1_5Shift1]
1. 1 [Option ID = 11025]
2. 2 [Option ID = 11026]
3. 3 [Option ID = 11027]
4, 4 [Option ID = 11028]

Correct Answer :-
a 1 [Option ID = 11025]

23) Given below are two statements |
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Statement I: Nailyavikas define upadhi (conditionality) as the necessary relation of
something only with major term but not with middle term.

Statement I1: According to Naiyvayikas wherever the major term is only conditionally true,
1t 1s invalid and the conclusion drawn from it cannot be valid.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement 11 are false
(3) Statement I 18 true but Statement II is false
(4) Statement I 1s false but Statement II i1s true

wo (1) Azarfaes sofy =t 79 ug & Wy @ @1ftg va 9g = g et o & sraves e % vy
o qftaiiig = 2

w9 (II): ARl o HIER 99 98 S0 el o aufdery w9 4 T 2, 98 oy 2 i 3wl fee o
Tt a0 74 2 7

IWRE YT+ AT 4, Ao 3 e faeredt @ wEl 39t w0 = <hife

(1) =R IATIIET & 3 |

(2) w1 113 a9 B |

(3 = 1T 2, S weF 1L 31 2 |
(@)  Fya I oTa 2, A 9 119 2

[Question ID = 2758][Question Description = Q30_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11029]

2. 2 [Option ID = 11030]

3. 3 [Option ID = 11031]

4, 4 [Option ID = 11032]

Correct Answer ;-

e 1 [Option ID = 11029]

26) Which of the following 1s a special type of Computer Virus that fills a computer syvstem with
self-replicating information. clogging the system so that its operations are slowed or stopped?

(D Firewell (2) Keystroke
(3) Worm (4) Zomhbhie

AR # ¥ FF T TR TR B TR anE 8 o FEet Eees W W@ TR genel 9
<A1 ¢ 59" =0 E 71 41 Y U2 9[ 8 91 9 7 9 27

1) R @) HEF

3 & A

[Question ID = 2759][Question Description = Q31_GP_Set2_51_Shift1]
1. 1 [Option ID = 11033]

2. 2 [Option ID = 11034]

3. 3 [Option ID = 11035]

4. 4 [Option ID = 11036]

Carrect Answer :-

e 1 [Option ID = 11033]

&2} Identify the correct order of the following computer storage capacities ranked from smallest

to largest capacity.
(A) 1500 M Bytes

(B) 5 K Bytes
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(©)

D)

1 & Bytes

2 T Bytes

Choose the correct answer from the options given below :

(1

3

B). (O). (). D 2) B ©C). D). A

D). ©). (B). &) 4 (B A). ). D)

FOALT YUSRY FHAT 3 STUR T B W o8 YUSK % Fal FH 1 Tad 3 |

(A) 1500 5T W

(B) 5 feretl amgem

(C)  17m sy

D) 27U STEEA

= fiu o frepedi § @ @&t ST F 99 i

1 (B. (), ). (D) (2) (B, (©), D). A)
3 D). B). &) 4 B). M, ©). D

[Question ID = 2760][Question Description = Q32_GP_S5et?_51_Shift1]
1. 1 [Option ID = 11037]
2. 2 [Optien ID = 11038]
3. 3 [Optien ID = 11039]
4,

Correct Answer :-

4 [Option ID = 1104

e 1 [Option ID = 11037]

28) Given below are two statements :

Statement I: Software programs permanently stored in ROM are called ‘Malware’,

Statement II: The use of the Internet. Cell phones or other devices to send or post content

Intended to hurt or embarrase another person is called Cyber bullying.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement I1 are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1s true but Statement II 1s false

(4) Statement I 1s false but Statement II is true
Hi=l <t =heE Tog T 2

FoA () :  STL.N.w, ¥ TRl ®9 § YosHiFa TTraa W AeER e A 2 |

o (II) : GE =afFal Bl wie TgeM 91 W i b 300G U $2Ee i TR, Aeisel $F 1 gEl wed @

S T A ai R T sz (mrnft) R mrgeR-afer ad 2 |

SURE e % 3T, A G T e W @ @@ s e it
w47 1 IR 11 31 aed 2 |
w1 ¥ 1L AT 3r@ed 2 |

wor T ot 2 Jf:g._.::mTT.m‘él

(1)
(2)

£
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ey w7 2

4 FElzmE: A e Iz

[Question ID = 2761][Question Description = Q33_GP_5Set9_51_Shift1]

1
2
3.
4

. 1 [Option ID = 11041]
. 2 [Option ID = 11042]
3 [Option ID = 11043]
. 4 [Option ID = 11044]

Correct Answer ;-
e 1 [Option ID = 11041]

22) With respect to Computers, which of the following are permanent storage devices?

()
(B)
(©
D)

Pen Drive
Hard Disk
Compact Disk
RAM

Choose the correct answer from the options given below :

(1)
3)

(&), (B) and (C) only
(A). (C) and (D) only

(@) (B), (C) and (D) only
4) (A), (B) and (D) only

HECet *h gEey 3 fefofad 3 | S ol yosre e (FEHe @i fsasa) 27
@A) Wy

B IR &

(C) e fgen

(D) HRTUH. (i7)

4 fau o foerew 4 °© WEl SO F 99 it
(1) == (), (B) 3 (C)

(3) = (A). (C) 3t (D)

@) Faa (B), (C) 3R (D)
@ a4 (A). (B) 3k (D)

[Question ID = 2762][Question Description = Q34_GP_Set9_S1_5Shift1]
1. 1 [Option ID = 11045]
2. 2 [Option ID = 11046]
3. 3 [Option ID = 11047]

4. 4 [Option ID = 11048]

Carrect Answer :-

s 1 [Option ID = 11045]

30) Match List I with List IT

(&)
(B)
©)
)

ListI
(Computer Terms)

Mouse
Modem
Pen-Drive

Opera

Last I1
{Description)
(I) Input Device
(II) External Memory
(III) Web Browser
(IV) Network Device

Choose the correct answer from the options given below :

1y  A-D. (B)-IV), (C)-(ID). (D)-ID)
(2) (A)-(IV), B)-D). (C)-dD). (D)-1ID
(3) A)-(D). B)-IV), (C)-dD), (B)-(II)
(4) (A)-(ID, (B)-(IV), (C)-(D). (D)-(III)
_{:ﬁﬁ—l% W%ﬁ-llﬁrﬁﬂﬂ ﬁﬁn’q z
=1

11
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FEAI g et
(A) ¥ISE O 9 e
(B) wisH (D) woEee Aad
(C) W 3w D) 59 TR
D) A AV) e feansy
it T v femrent A wEl s w1 == i

(1)  @)-O. B)-AV), (C)-dl), (D)-(IL)
2y  @A)-AV), B)-@. (C)-AD. O)-dID
3 @D, B-AV). (O-AD. (D)-UIID)
@ A0, B)-(IV), (O)-I). (D)-(IID)

[Question ID = 2763][Question Description = Q35_GP_Set2_51_Shift1]
1. 1 [Option ID = 11049]
2. 2 [Option ID = 11050]
3. 3 [Option ID = 11051]
4, 4 [Option ID = 11052]

Correct Answer :-
a 1 [Option ID = 1104%]

At By the year 2020, one of the targets in sustainable Development Goals 1s to reduce global
deaths and mnjuries from road traffic accidents by

(L) 33% (2) 40%
(3) 50% 4) 25%

79 2020 @, Unviia fUwmE @% #1 I8yd, HeH TAEG P 8 4FaF g w9 @i BRad gfowa
prac i At
(1) 33% (2) 40%
(3) H0% (4) 25%
[Question ID = 2764][Question Description = Q36_GP_Set9_S1_5Shift1]
1. 1 [Option ID = 11053]
2. 2 [Option ID = 11054]

3, 3 [Option ID = 11055]
4, 4 [Option ID = 11056]

Correct Answer :-
& 1 [Option ID = 11053)

32) Which of the following 1s perceived relatively a low risk problem in the context of
human welfare?

(1) Radionuchdes

(2) Airborne toxins

(3) Stratospheric ozone depletion

(4) Habitat alteration and destruction

fefafiags 5 @ %5 gHa weam % gl °§ gifas su g 5 Afgq arell auem % w9 5 g6z S 27

(1)  euadi wifyde e (i)

(2) TEeta e vy (versH zifa)

(8)  wivHTSET AioH &R0 (TIEE st i)

(4 oI ufEd v fam (3R siaet v )
[Question ID = 2765][Question Description = Q37_GP_Set9_S1_Shift1]

1. 1 [Option ID = 11057]
| 2. 2 [Option ID = 11058]
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| 3. 3 [Option ID = 11059
4. 4 [Option ID = 11060]

Carrect Answer :-
& 1 [Option ID = 11057]

33)  According to WHO standards for drinking water quality, the concentration of Arsenic should

not exceed :
(1) 10 weL™ (2) 6.0 ugL™
(3) 5.0 ugL™ (4) 1.0 weL™
fa7a Tea WA F WA % STER U9 S i TUE % fon st S amn u e
& 2 wfEe |
(1) 10 ueL™? (2) 6.0 yeL™
(3 5.0 gL (4) 1.0 pgL?

[Question ID = 2766][Question Description = Q38_GP_Set9_S$1_5Shift1]
. 1 [Option ID = 11061]
2 [Option ID = 11062]
3 [Option ID = 11063]
. 4 [Option ID = 11064]

N VL N S Y

Correct Answer :-
e 1 [Option ID = 11061]

34) During a combustion process, the following air pollutants are produced :
(A) Nitric oxide
(B)  Nitrogen dioxide
(C)  Nitrous oxide

gn)! Carbon monoxide

(E) Ozone

Choose the correct answer from the options given below :

(1) (A) and (C) only (2) (A, (C) and (D) only
(3)  (B). (D) and (E) only 4) (&), (B) and (D) only

Swae i T i sEt § FretaRen AT oAt B 8 7
&)  Fsiges AiwgEy

(B) A SEAFEES

(C)  TEegd ATHUES

(D)  FEA FAREES

(E) R

Hi fau v fasew § o T2t 3T 1 T e
1) e (A) 3 (©) (2) e (A), (O) 3 (D)
(3) = (B). (D) it (E) @) Fad (A), (B) 2R (D)
[Question ID = 2767][Question Description = Q39_GP_Set9_S1_Shift1]
1. 1 [Option ID = 11065]
2. 2 [Option ID = 11066]

3. 3 [Option ID = 11067]
4. 4 [Option ID = 11068]

Carrect Answer :-
& 1 [Option ID = 11065]

35) The “Vision statement’ of International Solar Alliance 1s

(1) Let us together make the world a better place

(2) Let us together make the sun brghter
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(1)
(2)
(3
(4)

(3) Let us make the world more energy efficient

(4) Let us have a carbon-neutral world

SRIEE AR wTEEa (EFY) w1 g9 afieee B

7 T T fiae 3| g R SR Tum s
39 TF WY (AR g ST TR S |
B9 Wb AT frerRt g st i stz s |
T8 TS TH HIEA-~ge gt a)

[Question ID = 2768][Question Description = Q40_GP_Set9_S1_5Shift1]
1. 1 [Option ID = 11069]
2. 2 [Option ID = 11070]
3. 3 [Option ID = 11071]
4, 4 [Option ID = 11072)

Carrect Answer :-
& 1 [Option ID = 1106%]

36) Given below are two statements ;: One is labelled as Assertion (A) and the other is labelled as

Reason (R) ;

Assertion (A): National Education Policy 2020 has recommended for setting up
Multidisciplinary Education and Research University (MERU).

Reasons (R) : MERU will aim at attaining highest global standards in quality education.

In the light of the above statements, choose the correct answer from the options given below :

(1)
2)
(3)
(4)

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true and (BR) 1s NOT the correct explanation of (A)
(&) 1s true but (R) 1s false

(&) 1s false but (R) 1s true

A g wem fau T 3, o AfSrRuA (Assertion A) % %9 ¥ faflgg 2 o 900 U FRV (Reason R) %

Eﬁfﬁ:

sl (A) ; i faen Hifa 2020 4 sglmes i @ o Gyefmes MERU) =i wng i
ST i |

HR0 (R) : MERU @1 3¢74 oiaagy et § s<ead 4fFam o Ii" T g |

ST HUF o Al 1, e o e femedi | 9 adl T W =9ma Al

()

(2)

(3)

(4)

(A) F (R) ST wed 2 3R (R), (A) Y wdt =7 2|
(A) 3R (R) 3F1 3 3, IRF (R), (A) i o = 76 |

(A) T4 2, | (R) 38T 2 |

(A) 378 2, wfFT (R) 99 2|

[Question ID = 2769][Question Description = Q41_GP_Set9_S1_5Shift1]
| 1. 1 [Option ID = 11073]

prepp
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| 2. 2 [Option ID = 11074]
3. 3 [Option ID = 11075]
4. 4 [Option ID = 11076]

Correct Answer :-
e 1 [Opticn ID = 11073]

37) Objectives of Open Distance Learning (ODL) and online programmes are

(A)  Toimprove access to higher education

(B) To increase gross enrolment ratio (GER)
(C)  To provide opportunities for lifelong learning
(D)  To make education innovative

(E)  Toimprove the quality of education

Choose the correct answer from the options given below :

1) &), B). (D) only 2) (B). (O). (E) only

3 @).®B).(C)only @) (A). (B), (C). (D) only
77 ey Mg (ODL) 3R STHersT FHmH] % 3274 & :
Q)  vea fen w ot gaw s
(B) F A I (GER) # afg #=
(C) TSI AT % G qgH =T
(D) o =i FEmEr g=ET

(E) e =i 7o & gam @

e fau T foerew § W Ted 3TgET STR O 95 SHiTT ;
D) (A), B), (D) @ % (B), (©). ()

(8 T4 (A). B), (C) @) Fad (), (B). (C), (D)

[Question ID = 2770][Question Description = Q42_GP_Set9_S$1_5Shift1]
1. 1 [Option ID = 11077]

2. 2 [Option ID = 11078]

3. 3 [Option ID = 11079]

4. 4 [Option ID = 11080]

Carrect Answer :-

e 1 [Option ID = 11077]

Students from soeclo-economically disadvantaged backeground require following supports in

order to make successful transition to higher education :
(A) Financial support only
(B)  Financial and academic support only

(C)  Affirmative action policy
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(D) Technical support only

(E)  Career counselling only

Choose the correct ansgwer from the options given below :
(1) (A and (B) only @) (A). (B) and (D) only

3 @A), B). (C), (D) only @A), (B).(C). (E) only

amifs-aiis =u % afud gyl & oA a Rl # asaagEs see fan fem % o feafafaa
el I ATETEHar 2t 8

(A  Fad e geEm

(B) Faa Tl g Ui wEEa

(C) HHRwas B Hifd

D) A AFATH TeEd

(E)  hael i qUagl

42 fiu o fepem § © w9 SO w1 9 Fif
() FF9 () IR (B) 2) #ad (A). (B) 3R (D)
(8)  =HaEE (A). (B). (C). D) @) FEE (A), (B), (). (B)

[Question ID = 2771][Question Description = Q43_GP_Set9_S1_5Shift1]
1. 1 [Option ID = 11081]
2. 2 [Option ID = 11082]
3, 3 [Option ID = 11083]
4, 4 [Option ID = 11084]

Correct Answer :-
a 1 [Option ID = 11081]

39) @Given below are two statements ;

Statement I: IITs are different from other normal engineering colleges in our country.

Statement II : In IITs science of engineering is taught whereas in normal engineering

colleges mostly technical aspect of engineering is taught.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II 1s correct

4 @ o g W R
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1. 1 [Option ID = 11085]

2. 2 [Option ID = 11086]

3. 3 [Option ID = 11087]

4. 4 [Option ID = 11088]

Correct Answer ;-

e 1 [Opticn ID = 11085]

40} Quality of higher education can be improved by :
(A)  Disciplining faculty members and students.
(B}  Improving facilities for faculty members and students.
(C) Providing exposure to the faculty members and students to good foreign universities.
(DY  Promoting privatization of higher education institutions.

(E)  Strengthening secondary education system.

Choose the correct answer from the options given below :
(1) (A). (B), (D) only (2) (B), (D), (E) only

(3)  (B). (O). (D) only @ ®), (O, (E)only
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1)

Read the passage and answer questions.

While the entire world has been focused on the economic fallout of the corona-virus
pandemic. two other much older viruses have been lurking in the shadows for quite some
time. Since these two viruses are non-biological in nature. they are vaccine-proof. One of
them is marketplace-based, the other, mind-based. While the origin of the coronavirus may
or may not be traced back to Wuhan in China. the two older viruses originated in the US.
Silicon Valley has had a huge role to play in propagating and prolonging these two viruses.

The three seemingly disparate viruses ave actually linked in major ways when viewed from
the twin perspectives of cultural anthropology and economics.

The marketplace-based virus has to do with ‘conspicuous consumption’. a term coined by
American economist and sociologist Thorstein Veblen in his 1899 book— The Theory of the
Leitsure Class. Conspicuous consumption is a catch-all phrase that best describes the practice
of acquiring goods of quality and quantity far in excess of one’s needs — an acquisition process
facilitated these days by e-commerce giants such as Amazon. While conspicuous consumption
1s typically associated with affluent counties in the West. i1t 1s catching on fast in India.
much to the delight of delusional politicians and IT companies. I find this quite curious since
India does mnot meet the definition of an  affluent society., Wiz,
a production-oriented society where the basic needs — food, clothing and shelter — of its
citizenry have been met.

The mind-based virus is cenired on ‘meme’. a term coined by Richard Dawkins. British
evolutionary biologist and author of the 1976 best seller, The Selfish Gene, Memes are units
of information that propagate in the meme-pool (akin to the gene pool) by leaping from brain
to brain.

The market-place pandemic i1s

(A)  Biological

(B)  Non-biological
(C)  Vaccine proof
(D)  Mind-based

Choose the correct option :

(1)
(3)

(A) and (B) only (2) (B) and (C) only

(C) and (D) only {(4) (A)and (D) only
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1. 1
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2, 2
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Correct Answer -

LI

[Option ID = 11093]

Read the passage and answer questions.

While the entire world has been focused on the economic fallout of the corona-virus
pandemic. two other much older viruses have been lurking in the shadows for quite some
time. Since these two viruses are non-biological in nature. they are vaccine-proof. One of
them 1s marketplace-based, the other, mind-based. While the orgin of the coronavirus may
or may not be traced back to Wuhan in China. the two older viruses originated in the US,
Silicon Valley has had a huge role to play in propagating and prolonging these two viruses.

The three seemingly disparate viruses are actually linked in major wavs when viewed from
the twin perspectives of cultural anthropology and economics.

The marketplace-based virus has to do with ‘conspicucus consumption’. a term coined by
American economist and soclologist Thorstein Veblen 1n his 1899 book— The Theory of the
Leisure Class. Conspicuous consumption 1s a catch-all phrase that best describes the practice
of acquiring goods of guality and quantity far in excess of one’s needs — an acquisition process
facilitated these days by e-commerce giants such as Amazon. While conspicuous consumption
1s typically associated with affluent countries in the West. it 1s catching on fast in India.
much to the delight of delusional polhiticians and IT companies. I find this quite curious since
India does mnot meet the defimition of an  affluent  society. ViZ..
a production-oriented society where the basic needs — food. clothing and shelter — of its

citizenry have been met.

The mind-based virus is cenired on ‘meme’. a term comned by Richard Dawkins. British
evolutionary biologist and author of the 1976 best seller, The Selfish Gene. Memes are units
of information that propagate in the meme-pool (akin to the gene pool) by leaping from brain
to brain.
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The two non-biclogical viruses originated in :

(1) China (2) Great Britain
(3) TheUS (4) India
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Correct Answer :-
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[Option ID = 11097]

Read the passage and answer questions.

While the entire world has been focused on the economic fallout of the corona-virus
pandemic. two other much older viruses have been lurking in the shadows for quite some
time. Since these two viruses are non-biological in nature. they are vaccine-proof. One of
them is marketplace-based, the other, mind-based. While the origin of the coronavirus may
or may not be traced back to Wuhan in China. the two older viruses originated in the US.
Silicon Valley has had a huge role to play in propagating and prolonging these two viruses.

The three seemingly disparate viruses ave actually linked in major ways when viewed from
the twin perspectives of cultural anthropology and economics.

The marketplace-based virus has to do with ‘conspicuous consumption’. a term coined by
American economist and sociologist Thorstein Veblen in his 1899 book— The Theory of the
Leitsure Class. Conspicuous consumption is a catch-all phrase that best describes the practice
of acquiring goods of quality and quantity far in excess of one's needs — an acquisition process
facilitated these days by e-commerce giants such as Amazon. While conspicuous consumption
1s typically associated with affluent countiies in the West. i1t 1s catching on fast in India.
much to the delight of delusional politicians and IT companies. I find this quite curious since
India does mnot meet the definition of an  affluent society., Wiz,
a production-oriented society where the basic needs — food, clothing and shelter — of its
citizenry have been met.
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to brain.

The term ‘Conspicuous Consumption’ is related to the process of :

(1) Meeting one’s basic needs

(2) Individual delusion

(3) Technology adoption

(4) Indiscriminate acquisition of goods
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Correct Answer :-

* 1

[Option ID = 11101]

Read the passage and answer questions.

While the entire world has been focused on the economic fallout of the corona-virus
pandemic. two other much older viruses have been lurking in the shadows for quite some
time. Since these two viruses are non-biological in nature. they are vaccine-proof. One of
them is marketplace-based, the other, mind-bhased. While the origin of the coronavirus may
or may not be traced back to Wuhan in China, the two older viruses originated in the US.
Silicon Valley has had a huge role to play in propagating and prolonging these two viruses.

The three seemingly disparate viruses ave actually linked in major ways when viewed from
the twin perspectives of cultural anthropology and economics.

The marketplace-based virus has to do with ‘conspicuous consumption’. a term coined by
American economist and sociologist Thorstein Veblen in his 1899 book— The Theory of the
Leitsure Class. Conspicuous consumption is a catch-all phrase that best describes the practice

of acquiring goods of quality and quantity far in excess of one’s needs — an acquisition process
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facilitated these days by e-commerce giants such as Amazon. While conspicuous consumption
1s typically associated with affluent countiies in the West. 1t 1s catching on fast in India.
much to the delight of delusional politicians and IT companies. I find this quite curious since
India does mnot meet the definition of an  affluent society. Wiz,
a production-oriented society where the basic needs — food, clothing and shelter — of its
citizenry have been met.

The mind-based virus is cenired on ‘meme’. a term coined by Richard Dawkins. British
evolutionary biologist and author of the 1976 best seller, The Selfish Gene, Memes are units
of information that propagate in the meme-pool {(akin to the gene pool) by leaping from brain
to brain.

According to the author, India 18 a/an :

(1 Producer society (2) Affluent society
(3) Trader society (4) Developing soclety
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Correct Answer :-
a1

[Option ID = 11105]

3)  Read the passage and answer questions.

While the entire world has been focused on the economic fallout of the corona-virus
pandemic. two other much older viruses have been lurking in the shadows for quite some
time. Since these two viruses are non-biological in nature. they are vaccine-proof. One of
them is marketplace-based, the other, mind-based. While the origin of the coronavirus may
or may not be traced back to Wuhan in China. the two older viruses originated in the US.
Silicon Valley has had a huge role to play in propagating and prolonging these two viruses.

The three seemingly disparate viruses ave actually linked in major ways when viewed from
the twin perspectives of cultural anthropology and economics.
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The marketplace-based virus has to do with ‘conspicuous consumption’, a term coined by
American economist and sociologist Thorstein Veblen in his 1899 book— The Theory of the
Leitsure Class. Conspicuous consumption is a catch-all phrase that best describes the practice
of acquiring goods of quality and quantity far in excess of one’s needs — an acquisition process
facilitated these days by e-commerce giants such as Amazon. While conspicuous consumption
1s typically associated with affluent countiies in the West. 1t 1s catching on fast in India.
much to the delight of delusional politicians and IT companies. I find this quite curious since
India does not meet the definition of an  affluent society., Wiz,
a production-oriented society where the basic needs — food, clothing and shelter — of its
citizenry have been met.

The mind-based virus is cenired on ‘meme’. a term coined by Richard Dawkins. British
evolutionary biologist and author of the 1976 best seller, The Selfish Gene, Memes are units
of information that propagate in the meme-pool (akin to the gene pool) by leaping from brain
to brain.

Memes represent :

(1) Gene pool (2) E-commerce

(3) Affluence (4) Information propagation
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